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2AM: X

HE: =OIXX Y e nEgs s4d5
S FOXX 2435 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 30,000 0 30,000
OF0XXxsg 5 H&49 XN 30,000,000 30,000
03 #HAFS S HI 8,500 0 8,500
OF0IXXI0o2tEH0l 29 8,500,000 8,500
301 dEtE2XZ 1,600 0 1,600
09 HALAHIXI &= 1,600 0 1,600
OZFQXXIOIEHD M 2| 1,600,000 1,600
nEgd g43 263,000 362,400 A 99,400
=ZYEUHERKA 2= 263,000 362,400 A 99,400
201 et A | 45,000 68,200 N 23,200
01 AFR2 2t 2l Yl 20,000 18,000 2,000
OgBt=gH| 20,000
~EYSE, EHAZ, AREE, 849 S
10,000,000 10,000
— Y=L EY E2 AIRES 10,000,000 10,000
02 3524l 20,000 45,200 N 25,200
O332aLHA 20,000
—ANZ2F Z2HS KNE)s 8= 5,000,000 5,000
—st=2d AU JIHEA 23dI (10 A)
15,000,000 15,000
03 At H b 5,000 5,000 0
OJNBAES 705 HHBA X8 A
5,000,000 5,000
202 (4] 70,000 95,100 AN 25,100
03 =220l 70,000 95,100 AN 25,100
O=2ZHung =& 70,000
—XMEZAl E20OHLC, &3, RE2HE)
98,000, 000*50% 49,000
— HEY XHZAl HA 21,000,000 21,000
203 € R =&Y| 8,000 10,000 A 2,000
03 AIHZ=X SR =AH| 8,000 10,000 A 2,000
O=2Ue WHE A =R (A) 8,000
— XNOHEA =8 ¢42¢ 4,000,000 4,000
—JIEZ2 EY A S&S 4,000,000 4,000
206 M=l 20,000 80,000 A 60,000
01 & bl 20,000 80,000 A 60,000
Ost=2d =2MHl JtEA XS (1HA)
20,000,000 20,000
eeE N2 120,000 109, 100 10,900
2Bl =& 0| 120,000 109, 100 10,900
O=22XOHET Al =FHSH A 120,000
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2 XX A
MM FONK L e D2 435
el nEgEd 2435 (ol &9
5 = d
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | R ENES 120,000, 000 120,000
HAHSAAY (AHX SR 11,073,956 11,308,201 A234,245
olA2AY| (B ) 10,982,500 11,200,000 A217,500
olat ey 10,982,500 11,200,000 A217,500
101 @121 4 500,000 1,300,000 A800,000
01 82 300,000 500,000 A200,000
OdE =S¢ 300,000,000 300,000
03 RIHA2ZIE > 200,000 800,000 600,000
OZ=L22X =22 H 200,000,000 200,000
303 LA 2,682,500 2,700,000 A 17,500
02 SIA0I2 2,682,500 2,700,000 A 17,500
OF=In/PNY =" 2,682,500,000 2,682,500
304 oizRe=2s 7,800,000 7,200,000 600,000
01 oz 7,800,000 7,200,000 600,000
ogizEg= 7,800, 000,000 7,800,000
[l (XXX D) 91,456 108,201 ~16,745
Il = 2] 91,456 108,201 A16,745
201 2L pr2 | 46,476 45,476 1,000
01 At 22l 46,476 45,476 1,000
ORI =11 31,476
—2AEX 25,3002 308 A %43 3,036
—SNEEMX 60,000 *20 = 1,200
—=2A0 EH 220,000 *83 1,760
— DR EH L S8  320,0002 *130H*33 12,480
—UBAIRRE 3,000,000 3,000
— 2R HE 1,000,000 1,000
—MNRA 29 HIZ(24,2224)
4,000,000 4,000
— ™AJI(60H) L ZIIXFI|(80H) 22IH
5,000,000 5,000
oEELI 15,000
— AZHQ 22X E20HAH] 15,000,000 15,000
202 0i] 20, 160 30,240 A10,080
01 2ot 20, 160 30,240 A 10,080
OJI=2de 2301 60,0002 *28% * 122 20, 160
203 &2 E X H| 23,820 30,485 AB,665
02 MRATI A R =X 18,480 25,265 AB,785
OFANMERERY 30,800, 000%60% 18,480
04 EAN2LA2=HH| 5,340 5,220 120
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M XX A D
MM M2 AY
el =23 U(X

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ORANSYISRFAHI (M HF )
445,000 x12& 5,340
405 XH&HF SHI 1,000 2,000 A 1,000
01 A&t = S F SHI 1,000 2,000 A 1,000
OMNEEIIF 2¢ 1,000,000 1,000
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= o
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
S RECI ()
MM HolE YL AN
Sel: YR EYY e CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=)y 55,490,723 52,137,322 3,353,401
=2 50,390
< 40,947
s 55,399,386
Helg HEYR =X 1,170,264 1,428,659 258,395
= 37,000
[ia 1,133,264
JAYRY EEY = 1,170,264 1,428,659 A 258,395
= 37,000
[ia 1,133,264
HYFRZFAXA 1,031,414 1,283,609 A 252,195
= 37,000
[ia 994,414
201 et 736,114 760,134 A 24,020
01 At 22l 21,000 18,000 3,000
Ogt=&H| 18,000
— M XHEH 3,000,000& 3,000
—=2=32% 2 HdMe==== 4,000,000 4,000
— 1155z 2R3 10,000, 000& 10,000
— XS =01 2| 1,000, 000& 1,000
OZxZSHHASH XIIRES 3,000,000& 3,000
02 =224l 715,114 742,134 A 27,020
Oz3&E2= & HA 136,040
— NHSIHA (L) 28,260
SE(HE Z2&8 ,48 28 590)
300,000& »59CH 17,700
(U 58,48 1200)
300,000& = 12CH 3,600
stE2(HE .58 .48 380)
170,000& »38CH 6,460
SE+IH(HMEx S 20) 250,000 *2H 500
— &g ¥ MUEEE 83,400
SE2(UE, &8, 48,838 50), 487,
il 41,400,000 41,400
SE(UHE, 58,48 1204) 9,600,000 9,600
S (U, 58,48 380)
30,400,000& 30,400
S2Xt(20) 2,000,000& 2,000
—ASHEINEEE & =8
80,000 »1110H 8,880
— N2 (F.8¥) 400,0009 x25H *13] 10,000
—SENEHINERE =
100, 000& »20CH 23] 4,000
—HEJHO NEHLISAHLS
1,500, 000& 1,500
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S RECI ()
Hu: mHels UL FNXE
ool sYeol SYs He CERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OAl £ EHI S X H 8,574
—=2ZLz0Y RNE= 8,574,000& 8,574
OXtg & et 570,500
—S8(UE 258 48,38 500)
265,500, 000& 265,500
—SE(UE , 28,48 1200)  72,000,000& 72,000
—S2(HE , =&, 48 3804) 209,000,000 209,000
— S=2%H(20) 24,000,000 24,000
405 XtatE SHI 295,300 523,475 A228,175
= 37,000
[ia 258,300
01 At ESFH S 295,300 523,475 N228,175
OZEXE sdeA 600,000 +8CH 4,800
OSSHIIX (&1 THM2) 50,000,000 *3CH 160,000
2 21,000
= 129,000
OstsE (4&l71) 42,000,000 1CH 42,000
= 16,000
s 26,000
Og=2&5I(HH3) 43,000,000& 43,000
OLE=(4+2) 3,300,000 3,300
OHltILE2 ME (&R2) 4,200,000 4,200
oI (& 712) 26,000,000& 26,000
O (&1 74) 22,000,000& 22,000
AHME =tE 138,850 145,050 A 6,200
201 L4l 99,200 105,700 26,500
01 AtR2t2lHl 73,600 80,100 6,500
OYer+gH| 52,000
—=SARISARE NAN 7L
10,000& 1005 1,000
—HRAAHZ L MREOM BEES
20,000,000& 20,000
—2Il4H2 BUBIN HHBY
8,000,000 8,000
—GB(XE) =8 20,000& =400 8,000
—SEZHAN 22 200,000& x50 10,000
—N=sEAM BEEE 7Y 2,000,000& 2,000
— 282X & IAHEEdE 7Y
1,000,000& 1,000
— 38 =8 2,000,000 2,000
oz2g+g 21,600
—2NIARE 2E=+E
150,000 52 x20L 15,000
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M 3

Hu: mHels UL FNXE
el BNY R0 Yl Y CERE)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— ZAZ AR S
8,000& *5F x24I x20Y 1,600
— ZAZAMRAR SFH0OH 20,0002 x5 20 2,000
— AL RAASE =Y 100,000 69X x53| 3,000
02 8323l 25,600 25,600 0
O=3232<HA 18,000
—SH2HBRE HWHESEE=(Z,89)
18,000, 000& 18,000
OA& ZEHl R Xl 7,600
—XNE8YAM BHEI| "2+ 1,500,000& 1,500
—HANMEZOH RANES 1,100,000 1,100
—HAEFE SHALAE RIS
5,000,000& 5,000
203 YR =] 27,200 34,000 26,800
03 Al Z=X A2 =X 27,200 34,000 26,800
Omelst HEAL FXXA(E) 10,400,000 10,400
Omelst HFLL FAXA(R) 10,400,000 10,400
O3H - 242 =& 6,400,000 6,400
301 EEM = 450 350 100
09 HALAHIX A S 450 350 100
OZLZARA 8 nNs &It 90,000& x5H 450
307 21201 A 10,000 5,000 5,000
12 212t 2 &t = H| 10,000 5,000 5,000
OZadAMRAR S2Zs F3E 10,000,000 10,000
405 THobH S| 2,000 0 2,000
01 AL =2 ZFH SHI 2,000 0 2,000
OXNEs8YMd &30 7L 2,000,000& 2,000
otM oD BWESH THab2te] 2,076,791 1,676,703 400,088
< 6,930
= 2,069,861
=37 Mat 22| 2,076,791 1,676,703 400,088
< 6,930
= 2,069,861
AN & BRASE 2l 1,574,861 1,590,503 A 15,642
101 1A Hl 25,278 16,857 8,421
04 JIZHHZ2XRHESE S+ 25,278 16,857 8,421
OF X2 HAIAE 2tel 16,857
— QI H| 8,590& x167L x8Al 2t+1H 11,477
FEE 73,9203 x34L 2,514
—ReRs=d 8,590% x3 «8A| 2t 207
—dMEUIEHY 1,058,320& 1,059
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S RECI ()
Bu: oFED HEE e
2 I35 M 2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—S8= 200,000& »8& 1,600
OFAL & M2EAL E=HMH LAAMSA
7,421,000 7,421
OFAL =8 Hl=2¢ 1,000, 000& 1,000
201 Let249] 1,367,583 1,118,646 248,937
01 At 22l 287,533 183,373 104,160
Oget=gH| 275,670
—&EA2e ABE 7Y 65,000,000 65,000
—STRES L STHAEH PY
16,000, 000& 16,000
— A2 gEH dE 3,500,000& 3,500
— ZAr2t2] ZEH E AEFES P2
9,000, 000& 9,000
—3X)| E2H ¥ ASY 5,000,000& =13l 5,000
—HAL 2 Y ST HA(2H M)
5,000,000& =63l 30,000
—UIIBEAE Ul £E 1,800,000& 1,800
— A HE #XE+ 17,000, 000& 17,000
— A &4 HodE 30,000,000& 30,000
—A2YANE A &L 45D 2
5,000,000& »23l 10,000
— I EHE =2 31,000, 000& 31,000
—AHANEEE =2 13,000, 000& 13,000
—H&ZEIBE =5 6,000,000& 6,000
—sdJ| B =3 8,000,000 8,000
—SAJA B9 =22(EM Y JFS)
5,250,000 5,250
— SAJIA HED 24 1,000, 000& *23| 2,000
— SIIXIA A0 =+=2 6,880,000 6,880
— &AL HIIE I E AtH| 3,000,000& 3,000
— 202 =2 (2F g23)
220,000& 1200 & 2,640
— 22l (12,282 At) 8,000,000& 8,000
— sS4l 2,600,000 2,600
ogdxs 11,863
LAFINE EXNLXZ 11,863,000& 11,863
02 =224l 1,080,050 935,273 144,777
03322 % HA 812,550
— A 318,000
I3 22,500,000& x12& 270,000
=ERS 4,000,000&~ 12& 48,000
— MI2& At 86,000
IS 6,000,000& x12& 72,000
=ER2= 14,000, 000& 14,000
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2A: A
HzH: otXolD) B SH RH AL
Sl TR WA 22 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— S 60,600
HIIR22 58,600, 000& 58,600
>3 2,000,000 2,000
— 293 fE=2, 294 3l 300,000& *13] 300
— 22 - AlE2 Mol 22 M2l
81,500,000& 81,500
— g2 8 SH 3 I 14,150,000 14,150
— XSOl A 2 M3 ] 250,000, 000& 250,000
— S22 HABH 2 M 3 2,000,000 2,000
(@)sE=3s] 67,500
—22 2 O3 S, M2E A 65,000
« LNGOF A HI 65,000,000 65,000
— FUHAY 224 2,500
SS(FUAY 22I,2801)
2,500,000& 2,500
OAlI& &Hl K X Hl| 200,000
—JIAHANEZ FA22 35,000, 000& 35,000
—ZEAI H2QAE L WHE - HIgE A
20,000, 000& 20,000
—&IIANEZE S22 48,000, 000& 48,000
—FAIE A S22 15,000, 000& 15,000
—HAILH S3AEZ2 M & E45Y
70,000, 000& 70,000
— HAILH OlH2d &HA 12,000,000 12,000
206 M = Hl 12,000 10,000 2,000
01 24l 12,000 10,000 2,000
OBMEIIME 2L (HD, XM S)
12,000,000 12,000
401 A EHI L 2O 50,000 415,000 365,000
01 A& HI 50,000 415,000 A 365,000
OFAN W AIRA 2|22 50,000,000& 50,000
405 XHo&HF SHI 120,000 30,000 90,000
01 JHMY 2 E F S H 120,000 30,000 90,000
OFAN SR S 2A2IES 120,000, 000& 120,000
S S MAE 22| 115,000 52,800 62,200
201 LBt A H| 45,000 32,800 12,200
01 AtSR 22l b 45,000 32,800 12,200
Ogbt=2d| 40,000
— 3 Ma Z2EHEI =5 15,000,000& 15,000
SRMA NESE =5 15,000,000& 15,000
—SRMA 2 =2 10,000,000 10,000
o294 5,000




S RECI ()
S obMolD BYASH WAL
2 I35 M 2e EEREEED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—3F MM FAY 5,000
J2 100,000& x5 =103l 5,000
401 Al HI R 201 I 70,000 20,000 50,000
01 A& Hl 70,000 20,000 50,000
O3FMe B - BLZA 20,000,000& 20,000
SHMEE ZEHHI 50,000, 000 50,000
TR 22 6,930 11,400 4,470
< 6,930
201 Let24d] 6,930 11,000 A 4,070
< 6,930
01 At 22l 6,930 11,000 A 4,070
ONHEZ+42 U N2BETY S
6,930,000& 6,930
< 6,930
g dF=ERNHH M= 270,000 22,000 248,000
401 AIEHI L 2 CHYI 270,000 18,000 252,000
01 A& HI 270,000 18,000 252,000
O£ dISXNUEH M=ZA
250,000, 000& 250,000
OMZUUXA=s=E 25 229 20,000,000& 20,000
IFEZE 282A AS3S M 80,000 0 80,000
401 AIEHIZL 201 80,000 0 80,000
01 A& Bl 80,000 0 80,000
OXF ZAH(23) UETA AAEH Y
80,000,000& 80,000
TEAM HUXES 2 AILSHLE BE L 30,000 0 30,000
401 AIEHI L 2 CHYI 30,000 0 30,000
01 A& HI 30,000 0 30,000
ONUXIZE X A2 HH HE 24
30,000,000& 30,000
HY2AZ Yl (3 H D) 52,028,668 48,811,960 3,216,708
= 13,390
< 34,017
e 51,981,261
ol 2y (3 H ) 51,886,472 48,660,984 3,225,488
= 13,390
< 34,017
e 51,839,065
ol A 51,799,692 48,517,683 3,282,009
101 1244 dl 48,477,298 45,571,053 2,906,245
01 2= 38,610,029 36,606,594 2,003,435
oJlza 27,239,743
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2N
X ZH -
L= B

el

ro o2 for
1 0 X

M0 HO &

02 02
=5

(O]
—~

= o

S
-

==

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Y=g 95,611
=5 7,967,580 x1H x12& 95,611
— BRI (A=H) 2,655,284
43 (H2)-224 8,075,500& 1«22 96,906
43 (¢ E) 8,134,660 x2H x12& 195,232
- 53 (¥ 8) 7,293,660& *27H x12& 2,363,146
— odEtA o HAHX 22,778,292
- 52 (265 2) 4,781,300& x1H x12& 57,376
- 62 (45 2) 4,057,200 x196H x12& 9,542,535
72 (145 8) 3,080,800 x175H =128 6,469,680
- 82 (125 2) 2,621,300& 1398 »12& 4,372,329
- 92 (65 8) 1,908,800& *102H = 12& 2,336,372
—Ngde2FeE2(T2)
3,941,000& x1H x12& 47,292
— A 2AL 2,584,500& x 15 x12& 31,014
— XNEH 1,362,549
cAEE(HE) 7,281,2503 x3Y x12& 262,125
- AN AH2082) 3,527,000& x26H x12& 1,100,424
— XML 2(SOHAAME) 1.0%
26,970,039,240& *1.0/100 269,701
OFJ:EN=y 2,520,711
—&d2Y
24,675,730, 188& x1/12+x50/100%23] 2,056,311
—HI2EYIIAS(LeH Y KT A 464,400
5~10 0] B+ 50,0003 x86H x12& 51,600
10~15& 0] 8+ 60,0003 x61H x12& 43,920
- 15~20= 0] 2+ 80,000& x91H x12& 87,360
- 20~254 0] 8t 110,000& *36H x12& 47,520
- 253 0] & 130,000& 150 128 234,000
O9 A= 8,880
— 53 80,000& x2H x12& 1,920
— 62 60,000& *3H x12& 2,160
— 7=0I5t 50,000 x8H x12& 4,800
OEsY 431,280
— B X+ 40,0003 3719+ 12& 178,080
— 2205 20,000& *405H x12& 97,200
— S MOt 60,0003 140 »12& 100,800
— AUTH OF 100,000 x46H = 12& 55,200
Of&s4 20,400
—2Z 50,000& *14H = 12& 8,400
—49= 40,000& 25 x12& 12,000
Olla323a=xY 346,096
— 42U 4,923,900 x1H x12& %4 .1/100 2,423
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2N
X ZH -
L= B

el

ro o2 for
1 0 X
Ho o &

02 02

o =
= o
[
— &

& o
—~a

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—5zl< 4,192,500 93H »12& 4. 1/100 191,833
— 620 3,586,7002 x65% x 122 *4. 1/100 114,703
—720% 3,019,20021 5% * 122 %4 .1/100 7.428
—NEBHR

4,109, 100& »13Y 12 *4.1/100 26,282
~HRBREL(HHS)
342,666,270 x1.0/100 3,427
O 50,0003 x7H » 12 4,200
OaelgR+E (52 265 8)
4,781,300 18 «12&+9/100 5,164
OJI=3d3=2+% 97,680
— 55 50,000 x11& «12& 6,600
—6~7=2 30,0003 1378 «12& 49,320
— 8=0la6t 20,000 «100H »12& 24,000
- A&z 60,0003 *3H 1228 2,160
— XNEAM 50,000 x26H «12& 15,600
OJIs3d32x4 It =3 56,640
—JIsAM 50,000 »1H » 122 600
— JI A 30,0003 x128H x12& 46,080
— &AL, 23 20,0003 35 «12& 8,400
- 28 10,0003 =13 x12& 1,560
OgUdl g 4,800
— RS 200,000 x2H 128 4,800
ogd+g 600
—-7=2 25,0003 x2F 128 600
O (d73) 80,0003 x1H » 128 960
ouage=4g 50,0002 x16H x 128 9,600
OAtzl =X 2+ 58,200
— AN EXNHRSE 70,0003 x53H «12& 44,520
— NESTYRLY HUB(HAB)
30,0003 *38H «12& 13,680
OAMM=&(6=0l5t) 20,000 x10¥ «12& 2,400
s -9 =¥ 70,0002 «126H «12& 105,840
OAZHE R = (82)
2,621,300 9 »12& +5/100 14,156
O&d=¢ 19,440
— MO0 E & 270,000 x6H «12& 19,440
Oz 3,000
— 3404 440| et 250,000 x1H «12& 3,000
ogzges¢ 55,800
—EAd=H 250,000& x14H « 123 42,000
— A4S H 50,000 x 19 «12& 11,400
— 22 JI M 50,000 »4H » 12 2,400
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SN B
FM: HH2LZH (S H D)
el 2| (3 ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OOt 168,300
— SOPEXAZ(3HBINX)
1,500,000 « 11 «3& 49,500
—SOHFHEZ(AHEMEH)
1,200,000 « 118 +9& 118,800
OAZA2R2Y 2,533,110
— 5= 14,0723 «1H «30Al 2t 128 5,066
— 6= 12,0023 x196H +30A| 2t 123 846,862
—7= 10,8413 x 175 «30A| 2t 12& 682,983
— 8= 9,733& x139H «30A| 2t 128 487,040
- 9= 8,798% «102H «30Al 2tx 128 323,063
— A2 At 11,5693 » 1H «30A| 2t+ 128 4,165
—XZAH(21Z2014)
11,318& x12H «30Al 2+ x 128 48,894
— X ZAH20& 20I5t)
10,6073 14 «30Al 2+ x 122 53,460
— Y22 X 81,577
-6 (2FARY)
12,0023 »4H «80A| 2t 128 46,088
= 10,8413« 1H «80AI 2t 12& 10,408
A2 RE MR
2,508,024,840&*1.0/100 25,081
O UG A 140,000& x675H 123 1,134,000
OgZE S Ottl
24,675,730, 188& x1/12x60/100+23] 2,467,574
OSIIE &l
27,239,739,630& x1/12x86/100%1/30%20L 1,301,455
02 JIEH A2+ 4,251,964 3,765,173 486,791
OFRZE 841,463
—Jl2=2 (154 0/2h)  3,391,700& 9% « 124 366,304
—Jl22(234014 3040/2H)
3,897,100 x1H~12& 46,766
—J1232(3040]4) 4,159,600 x3H x128 149,746
PSP ol 562,814,400 *1.0/100 5,629
—32=4
568,442 ,540& »1/12& *50/100%23] 47,371
— 322G otar2 (25901 4)
130,000& 9H »12& 14,040
— ZHZ A 140,000 »13H »12& 21,840
- 32Xl (62) 165,000& 2 128 3,960
—AZEBXHI(73) 155,000& »2H 128 3,720
- 32 Z2dl(8~932) 145,000 9« 12& 15,660
— S E S0t
568,442,540 x1/12%60/ 10023l 56,845
— GOt &l 568,442,540 x1/12%1/30%20 31,581
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A S A
M HHE2HZAH (S AL)
el 2| (3 ) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— Horastl 50,0003 x13Y 128 7,800
— A== (BHE) 40,000x1H«12& 480
—ZdEsNHE(X2E) 30,000 x2H « 122 720
— &= 13,200
b < Xt 40,0003 x10¥ x12& 4,800
2LIE 20,0003 x10H 128 2,400
- SOt 60,000& x5H 128 3,600
- AUTH Ot 100,000+2H »12& 2,400
— ANt 2R4Y  11,805¢132+30A1 2t +128 55,248
—NLTRLY HRHLE
55,247,400& *1.0/100 553
OLEHA DI HI 734,718
—Jlzs 590,929
- dBtADI (62 &) 57,059,000 +1Y 57,059
LAIH (724 Y) 53,389,000 «3H 160,167
UBHADI M (B2 &Y ) 42,057,000 x6H 252,342
- LUFADIHI (92 &) 34,508,000 x2H 69,016
- LBFADIHI (S AL 52,345,000& »1H 52,345
—HRMHE = 590,929,000& x1.0% 5,910
—JIEE 10,800
- i Xt 40,000 x8H » 128 3,840
SIS 20,0003 x10¥ =128 2,400
= T Ot 60,0003 x3YH 128 2,160
- SR Ot 100,000& »2H 128 2,400
— Azt =% 47,925
LoD A (62 &t )
12,0023 x1H «30A| 2t 128 4,321
LoD (724 )
10,8413 x3H «30A| 2t 128 11,709
oA DA (82 &t Y)
9,733 «6H «30Al 2t<12& 21,024
oA DA (92 &t )
8,798 «2H «30Al 2t <123 6,335
LB DA (S AL
11,569& 18 «30Al 2t 12& 4,165
ANZtel+=g HRIMEE
37,052,280% %1.0/100 371
— 2=l 50,0003 13 128 7,800
— ZHZ A 140,000& = 13H »12& 21,840
S = 25,560
Ao DA (62 &)
250,000& 18 «128 3,000
UBrADIH (T2 4 YY)
165,000 4 128 7,920
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S RECI ()
FM: HH2LZH (S H D)
el el 2 (3 (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oA DA (82 & )
155,000 6 «12& 11,160
LorADIH (92 & )
145,000 2H 128 3,480
— G2 &l
596,838,290 *1/12x84%*86%*1/30x20 L 23,954
OAlIZE B JI & D1 HI 2,675,783
—JlEs 2,135,179
AZPE ST INM Jt2
53,431,000& »1H 53,431
APE ST INM LS
48,336,000& *3YH 145,008
APE ST INM TS
44,048,000& 7Y 308,336
AP EHTYINM 2t2
35,623,000& »23H 819,329
- APEA T IIM Ot2
32,363,000& »25H 809,075
—MRHEE 2,135,179,000& %1.0/100 21,352
— &= 23,520
- <Xt 40,0003 x18H 128 8,640
SIS 20,0003 25«12 6,000
= i Ot 60,000& x9H «12& 6,480
- AUTH Ot 100,000& »2H 122 2,400
— AN 2R 207,173
APEE TS IIM Ot2
14,0723 «1H «30A| 2t 128 5,066
APE ST INM LS
12,0023 *3H «30A| 2t 128 12,963
AT INM TS
10,8413 x7H «30AI 2t+ 128 27,320
- AEEHTAINM 2t2
9,7333 *23% «30Al 2tx 1228 80,590
- APE T IIM Ot2
8,798& x25% «30Al 2tx 12 79,182
NZeRRLY YW=
205,118,640 %1.0/100 2,052
— ZWHZ A 140,000 x59H « 12& 99,120
— 2=t 50,000& *59H 128 «35/40 30,975
- AZ2 x| 99.699
NSRBI IS
400, 0009 x 1 « 128 +35/40 4,200
NSRS ITH Ls
250,000 *3H »12& x35/40 7,875
NSRBI Chs
165,000& 7 = 12& x35/40 12,128
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S 8D
FM: HH2LZH (S H D)
el el 2 (3 (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- APAEHTYINM 22
155,000 »23% = 12& %35/40 37,433
- APEETY NN Ot2
145,000%25% 12 x35/40 38,063
— A2 ST =G
(2,968,580& *84%/ 12x5%*40/35)*59H « 128 8,408
— HItE & Hl
2,156,530, 7909 1/ 12x84%x*86% 1/30*1/7*80 49,457
Al 2
— o=l 300,000 »3H 900
03 RIAHAZZ2 B+ 5,615,305 5,199,286 416,019
Ottt (gyt) 2,219,834
— oIy 2,327,610& 53K x12& 1,480,360
— " HE I}
1,480,359,960% x1/12x60/100+23] 148,036
—N2A2R4g(2H)
17,9803 »53H «30Al 2+ 128 343,059
— s sst= 95,9803 x53H 20! 101,739
— WS A 130,000& »53H = 12& 82,680
— s 2| 50,000 x53H «12& 31,800
—JIE=E 32,160
b < Xt 40,0003 x30Y x128 14,400
2LIE 20,0003 x23H 123 5,520
= JH Ot 60,0003 x17H 128 12,240
Ot (dy, d84) 377,978
— oIy 2,348,610& x9H 123 253,650
— BES0td|
253,649,880% *1/12+60/100x23] 25,365
— A2 R4 (249)
18, 1303 «9H «30Al 2t 128 58,742
— s ssit= 96,7803 x9H x20! 17,421
— W gAY 130,000& x9H 123 14,040
— WS 2Ll 50,0003 x9H 128 5,400
—JIE=E 3,360
b < Xt 40,0003 x3Y 128 1,440
2LIE 20,0003 x2H 128 480
= Ot 60,0003 x2H 128 1,440
OHEL=2A (Y LA 52,601
— QI 3,011,520 x1H «12& 36,139
— ZESOHHl 36,138,240 *1/12%60/100%23] 3,614
— A2t 2242 (284)
22,9003 «1H «30Al 2tx 1228 8,244
— s sSsIt=¥ 122, 1602 » 1H »20 2,444
— A Z A 130,000& 1H 128 1,560
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2N
X ZH -
L= B

el

ro o2 for
1 0 X
Ho o &

02 02

o =
= o
[
— &

& o
—~a

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—usEX 50,0003 x 18 128 600
OtZ0lsta (HE = HE) 387,280
— oIy 3,126,410& x7H «x 124 262,619
— 9B
262,618,440 1/12%60/ 10023l 26,262
— Azt 224 (124)
23,730 «7H «30Al 2t 123 59,800
— R ssIt=E 17,719
— ZHZ A 130,000 x7H x12& 10,920
—Ws2Ldl 50,000& x7H «128 4,200
— 5= 20,0003 x6H 128 1,440
—BEd 20,0003 x1H «128 240
—JIE=E 4,080
- i Xt 40,0003 x4H x 128 1,920
SIS 20,0003 x3H 128 720
= JH Ot 60,000 x2H 128 1,440
OsZ0lIstA(SYH) 981,324
— QI 3,074,300& 18K+ 12& 664,049
— HES0td|
664,048,800 *1/12+60/ 10023l 66,405
— A2
23,3503 «18H »30Al 2t 12& 151,308
— s ssIt= 124,560& 18 20 44,842
— ZHZ A 130,000& = 18H »12& 28,080
— WS 2Ll 50,0003 x18H 128 10,800
—BtEH 20,0003 x6H 128 1,440
- 5= 14,400
bH < Xt 40,0003 x15H 128 7,200
2LIE 20,0003 x8H » 122 1,920
- SOt 60,0003 x4H 123 2,880
A4 T Ot 100,000& x2H x12& 2,400
OkEzE=x& 914,137
— oIy 2,694, 7503 19K 123 614,403
— B2 S0yl
614,403,000 *1/12%60/100%23] 61,441
— A2 R (104)
20,6203 «19H »30A| 2t +12& 141,041
— R ssIt=E 110,030& 19 20 41,812
— W Z Al 130,000 19 »12& 29,640
— WS 2Ll 50,0003 x19H 128 11,400
— e 20,0003 x2H 128 480
- Xx&2H 10,000 »2H «12& 240
— g5l 20,0003 x10¥ 128 2,400
—JIE=E 11,280
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SN B
FM: HH2LZH (S H D)
el 2| (3 ) (&)
SN HH-S(BN) - MBAY - B il HlnE2
- i Xt 40,0003 x13Y 128 6,240
SUIE 20,0003 x9H 128 2,160
= T Ot 60,0003 x4H 128 2,880
O3RAZZX Moi243 99,472,580 99,473
OHLEEREZ 5,932,752,000& *3.33/100 197,561
OIIRAEEE
197,561,000 10.25/100 20,251
O=2ASEE S 5,932,752,000& *4.50/100 266,974
OCLE2ERES 5,932,752,0002 x0.8/100 47,463
OXHeEsReg2 5,932,752,000& *0.85/100 50,429
204 MR=HAH| 1,762,080 1,571,700 190, 380
01 Mg FH 69,360 66,960 2,400
OXMgHR =AY 69,360
-z 650,000 x 18 128 7,800
—42(22=) 400,000& 18 «128 4,800
— 4= 350,000& x2H x12& 8,400
— A E(53) 100,000& »24H «12& 28,800
—BHAE Y SHE(sHIIsHHAY Z&
) 150,000 8 »12& 14,400
—25 9% 50,000& x7H 128 4,200
—HE0b2sSUHE 80,000& x1&H «128 960
02 252 X2l 1,416,720 1,234,740 181,980
O&g 2=t 1,416,720
-z 500,000 x1&H 128 6,000
—42(22=) 450,000& x 18 128 5,400
— 4= 400,000 x3H «12& 14,400
— 53 (=YIaMEHAT, N2 2§
250,000& *32H x12& 96,000
— 6= 165,000 x206H x12& 407,880
—7= 155,000 x202H x12& 375,720
—8-93, ANYE=23E2 U2
145,000 x262H x 12& 455,880
— AFA, KT EA 165,000& »28H «12& 55,440
03 EZ YA 276,000 270,000 6,000
oerasl 50,000 =460 x 128 276,000
304 iZRE3S 1,560,314 1,374,930 185,384
02 =2AHL2ES 1,560,314 1,374,930 185,384
OZALEE BEE=
42,500,000,000& *3.33% ,415,250
OLoFEIIRLYEE 1,415,250, 000& *10.25% 145,064
HYEESSEHH 29 26,780 26,544 236
= 13,390
< 4,017
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S 8D
Mz HMSAHH (3 AHW)
cHol: oz 2l (5123t CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 9,373
101 2124 4| 26,780 26,544 236
= 13,390
= 4,017
= 9,373
02 JIEt& 2% 26,780 26,544 236
ONLEESEHH 29 26,780,000& 26,780
= 13,390
= 4,017
= 9,373
DISZ2sH JIeBt XS ALY 60,000 60,000 0
& 30,000
iy 30,000
101 @121 60,000 60,000 0
= 30,000
iy 30,000
02 JIEt& E % 60,000 60,000 0
02021 Al -2 BSH Jlgt =4 (e1A])
60,000,000 60,000
= 30,000
= 30,000
Jl=2&tl 142,196 150,976 A 8,780
Jl=2Adl (g H D) 142,196 150,976 N 8,780
201 et Y| 33,676 29,676 4,000
01 At 22l ] 33,676 29,676 4,000
Ogbt=2H| 22,676
— SAMEX(AL) 25,000& 102t A %12 3,000
—SAI EY 220,000 x2[H 23] 880
— 2A| %2l 200, 0003 *2CH x23] 800
—T2lEe ElY 338,000& *8CH x23] 5,408
— T2l %2l 200,000& =8CH 1,600
—ZeZeH EY 400,000& *20H =444 3,200
—dHE=sE 7Y 2603 =3, 0000H 780
—BEEAN JEHGA 1,000, 000& 1,000
—BMANRY S)BBTH SFETY
3,000,000 3,000
— QAR EE 2,000,000& 2,000
—dLD A= 42 ,000& =20 12& 1,008
OF=1=1:] 11,000
— ANZ2AZL2X E2004H]| 11,000,000 11,000
202 04d| 13,440 27,000 A 13,560
01 2L Y| 13,440 27,000 A 13,560
O=2WHAbl 13,440




M 3

M HHE2HZAH (S AL)

¢l =gl (chel & 9l)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
—HRF=XI|I2 0| 40,0003 x28H = 12& 13,440
203 R =&Y| 94,080 93,300 780
01 J|22I PR =&Y 89, 100 89, 100 0
o=z 52,800,000& 52,800
oOfzZs 36,300,000& 36,300
04 ENSIHRF=AY| 4,980 4,200 780
OBANSII2FXHI (3 H W)
(™ 2400,0002+=2t01 2115 0009 )~ 128 4,980
405 XH&HF SHI 1,000 1,000 0
01 AL 2 EF SHI 1,000 1,000 0
OMEE JI7 2¢ 1,000,000& 1,000
MPES(2AHD) 215,000 220,000 25,000
WEHeH XN=S(3AHD) 215,000 220,000 A5,000
WEAHH XS 215,000 220,000 A5,000
705 Q=222 24AE 215,000 220,000 A5,000
01 ll+==3A24s 200,000 200,000 0
OJF® H2FA 2IIY=FS WISK 23 &
= 200,000,000& 200,000
02 0l &==0| XHAH & 15,000 20,000 A5,000
OJtg H2E3 A ZIH=SE HE A Ol X+ &
= 15,000,000& 15,000
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—— O-I
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
S8 X2 M
¥y D8EX U 22X =X B
SETRRE S CEEEED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
2 xkel A M 9,242,146 9,903,953 A 661,807
= 2,214,380
Xl 255,769
= 1,092,156
= 5,679,841
=X 9 22X X & 2,746,929 2,740,307 6,622
= 718,210
Xl 255,769
& 304,212
= 1,468,738
ALY EH 2,162,374 2,270,807 A 108,433
= 701,306
Xl 166,466
o= 171,902
= 1,122,700
g ots5s LAl EAIY 18,880 500 18,380
201 et 9| 7,880 500 7,380
01 AR 22l ] 7,880 500 7,380
OgBt4gH| (Mt ZAoAR3]) 680
L ENE L X
100,000& *6H * 13| 600
— S HEH S 80,000 80
OJIZtMZEX e HEA|}E
200,000 x3% x12& 7,200
203 €2 F&d| 11,000 0 11,000
03 AIZH =X 2 F XY 11,000 0 11,000
OLXe|ldz ALR2FX 2,000,000 2,000
OXNYGANMELS () 5,000,000 5,000
OdH=sX= 224 4,000,000 4,000
NEFEs HEHLX AL 1,277,312 1,033,705 243,607
= 701,306
=} 171,902
= 404,104
201 et d| 22,612 2,000 20,612
= 9,806
=} 2,942
= 9,864
01 AP 2t 2| bl 3,000 2,000 1,000
OAMNISEHA 2& E82H S 3,000,000& 3,000
03 A2 H H| 19,612 0 19,612
OFEAXelAtY E2HA A= WEH|
19,612,000 19,612
= 9,806
& 2,942
= 6,864
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2AM: LXield M ot
¥ D8EF Y 22X =X B
chel: Al Ch CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 100,000 0 100,000
= 50,000
< 15,000
s 35,000
12 JEEd= 100,000 0 100,000
OFILRCIMY WX MEE X
100,000, 000& 100,000
= 50,000
= 15,000
s 35,000
307 gl2tol & 1,154,700 1,024,705 129,995
= 641,500
< 153,960
[ia 359,240
02 IZHE M AHEE 1,154,700 1,024,705 129,995
OAZIZHZMEZR & XY SA01Y 2H3HAY
HEOHX elAdl XA 1,046,700,000& 1,046,700
= 581,500
< 139,560
= 325,640
OFEY WINWIN sl=S2ddA Z2MEMNY &
A elAgl X3 108,000, 000& 108,000
= 60,000
= 14,400
e 33,600
NFgxtel XA 27,000 25,200 1,800
201 ¢er24| 25,000 23,200 1,800
01 At 22l 25,000 23,200 1,800
O e8| 25,000
—JlEE LM% SYSE 2Y
25,000,000 25,000
203 YR =& 2,000 2,000 0
03 A F=XH S =AY 2,000 2,000 0
ONEB=A ¥ 22NENSH YREW
2,000,000 2,000
S =LA 506,250 556,530 A 50,280
101 1244 dl 494,250 544,530 A 50,280
04 D12t Z2XREES 494,250 544,530 A 50,280
Os= Xl At 494,250
— ZEd el A (erAdl) 78,770,000 78,770
— sl Xl (erAl) 415,480,000 415,480
206 M= Hl 12,000 12,000 0
01 MHZ 4l 12,000 12,000 0
O sl A (HEAHS) 12,000
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A 2T

=2
g ng=sd 4 22N 51 54
(o]
=]

Chol: AloiCHE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— MHZtl 12,000,000 12,000
AL A AR el ALY 214,000 0 214,000
Xl 107,000
e 107,000
101 14l 190,000 0 190,000
Xl 95,000
e 95,000
4 JI2ZtHZ22HEE = 190,000 0 190,000
OXdgAdTe At (JI2HE =)
190,000, 000 190,000
Xl 95,000
[ia 95,000
201 LBt 24,000 0 24,000
Xl 12,000
i 12,000
01 At 22l 24,000 0 24,000
OXNSeAUT 2l AL (AFR22181) 24,000,000 24,000
X 12,000
s 12,000
NS SSH LRl AL 118,932 354,872 A 235,940
Xl 59,466
s 59,466
101 @124l 111,042 304,872 A 193,830
Xl 55,521
s 55,521
04 JIZHHZ2Z2XNSE = 111,042 304,872 A 193,830
OXS=SHLRI AL (DI 2HHI 2 =)
111,042,000 111,042
Xl 55,521
[ia 55,521
201 Let24d] 7,890 35,400 A 27,510
Xl 3,945
s 3,945
01 At 22/l 7,890 35,400 A27,510
OXNGBSHL X2l AL (AF2 22l 8l)
7,890,000 7,890
X 3,945
s 3,945
DEFH Y Jsa =4 584,555 469, 500 115,055
= 16,904
Xl 89,303
< 132,310
[ia 346,038
Zo 4™ XN 18,200 18,080 120
201 et 1,400 1,280 120
01 At 22l 1,400 1,280 120
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M LXelZ M
g ng=sd 4 22N 51 54
S D8EX 2 )59 §4 (S &2)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
Oget=ZH| 1,000
— g M= 1,000,000 1,000
o=2g=+g 400
—mOMEAOAS BALY
100,000 * 4H 400
301 LEIEN = 16,800 16,800 0
12IIEtE 4= 16,800 16,800 0
OJlsdd=2 Xa 200,000 » 78 * 12E 16,800
st XFo 24 90,000 0 90,000
= 54,000
[Ea 36,000
101 Q124 H] 68,000 0 68,000
S 40,800
s 27,200
040|222 s E+ 68,000 0 68,000
OLstdEXZ 0l erAH| 68,000,000& 68,000
= 40,800
ia 27,200
201 fEt2E | 22,000 0 22,000
< 13,200
= 8,800
01 AtR 2t 2l bl 19,000 0 19,000
OXtg Rt 4,500,000 4,500
£ 2,700
2 1,800
Oxtg &z 800,000 800
< 480
= 320
O=&8, WsHl, ¢d FHl & 13,700,000& 13,700
S 8,220
[Ea 5,480
02 32224l 3,000 0 3,000
Oxtg R=Hl 3,000,000& 3,000
= 1,800
= 1,200
2iteldy 2 280,130 0 280,130
< 60,724
= 219,406
101 @124 8] 221,130 0 221,130
< 60,724
[Ea 160,406
03 2 AHAAx2 2+ 221,130 0 221,130
OelAH| 221,130
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S8 X2 M
Hu: DEEN Y 22X =X 5
Sl DEET L s 84 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—Jl=g
(2,328,750%4 3 x 122 )+(2,407,620% 1 «12& 140,672
)
& 40,685
= 99,987
— M Z A 130,000%x5H x12& 7,800
& 1,821
= 5,979
— NEBXH| 50,000%x5H x12& 3,000
& 1,214
= 1,786
— HE 50|
(1,397,250%4H 23| )+ (1,444 ,570x1H 23] ) 14,068
= 3,645
= 10,423
— RS
(83,760* 10 x4 )+(86,400%10L »1H) 4,215
= 1,214
= 3,001
— AN2HA =&
(180,000%4H «12& )+( 186,000« 1H x12& ) 10,872
= 3,036
= 7,836
— =&0H| 150,000%5&H x12& 9,000
= 1,894
iy 7,106
— BE H A 7,000,000%4& 2| 28,000
== 6,000
= 22,000
= 160,000~ 12& 1,920
& 608
= 1,312
—JIEH(gEREX g
(18,000%4H x15A1 2H)+(18,600%x1H «27 Al 2}) 1,583
= 607
= 976
201 et 55,000 0 55,000
01 AP 22| H| 5,000 0 5,000
O Xelde #3329 A 5,000,000 5,000
03 Al A H| 50,000 0 50,000
OFgmz)dH=2d 50,000,000 50,000
301 et M= 3,000 0 3,000
09 BAAHIXI® 2 3,000 0 3,000
OFJaEA s 3,000,000 3,000
405 XHAHF S HI 1,000 0 1,000
01 XAt 2 ZF S| 1,000 0 1,000
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S8 X2 M
Hu: DEEN Y 22X =X 5
oel: DS U Jls 84 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O Xtel HE 1,000,000 1,000
ANSIEI| S AP EH KR ALY 24,155 8,380 15,775
= 16,904
= 1,086
o 6,165
307 giztol A 24,155 8,380 15,775
= 16,904
& 1,086
= 6,165
02 Q2B AMAIE E =X 24,155 8,380 15,775
OAMBIEZIHMIN S APl XALS
24,155,000 24,155
= 16,904
=} 1,086
= 6,165
A EDY M3lEEE K& 7,302 7,732 AN 430
N 5,477
= 1,825
307 giztol & 7,302 7,732 A 430
Xl 5,477
= 1,825
02 QIZ2IA AAIE E X 7,302 7,732 AN430
OAIZI &I AISIEE = 7,302,000 7,302
Xl 5,477
= 1,825
AMNSIEI S THEXSAS 71,768 91,333 N 19,565
Xl 53,826
= 17,942
307 212t0| ™ 71,768 91,333 AN 19,565
Xl 53,826
= 17,942
02 DIZHEAAIE E X 71,768 91,333 A 19,565
OASI &= DY AT S AL (214 H])
71,768,000 71,768
Xl 53,826
= 17,942
0271 ¢24d XNEAY 60,000 50,000 10,000
Xl 30,000
= 30,000
307 QI2t0| & 60,000 50,000 10,000
N 30,000
= 30,000
02 QI2tAAMAIE E =X 60,000 50,000 10,000
onrslIg gd=224d NIAY 60,000,000 60,000
Xl 30,000
= 30,000
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2AM: LXield M ot
Hu: DEEN Y 22X =X 5
S NBSX ¥ 50 |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A EEN EEus X 33,000 33,000 0
< 16,500
s 16,500
201 £B-2d| 33,000 33,000 0
< 16,500
s 16,500
03 A2 Z Hl 33,000 33,000 0
OMIBZN FHuSMIII S 33,000,000 33,000
< 16,500
= 16,500
ogts3sHd 80|18 2= 1,591,996 665, 124 926,872
< 572,988
e 1,019,008
ore2sH Jlgtxd 1,591,996 665, 124 926,872
< 572,988
i 1,019,008
OrS3sHM 243t 10,200 8,940 1,260
201 ¢4 4,200 2,940 1,260
01 At 2t 2l 4,200 2,940 1,260
Oo=24d=+¢ 4,200
—3=0tS 2SI S2AY A==
100,000 x6H 23| 1,200
~DIS2SH 2YANE FHLY
100,000& 102 =33l 3,000
203 YR =2t 3,000 3,000 0
03 AIMFAH S =AY 3,000 3,000 0
otsssH g8 =& 3,000,000& 3,000
301 LeHBAF 3,000 3,000 0
09 SALAHIX A S 3,000 3,000 0
O3 =0te &) d&EE2IY 249
150,000& »10H »23| 3,000
Ol ZE (3 =0ts2=s2H) 176,000 162,264 13,736
101 @124l 130,000 122,664 7,336
04 JI2ZtHZ22HEE = 130,000 122,664 7,336
OOE&H JIZ2H22XNHE > 130,000, 000 130,000
201 ¢er24l 21,000 20,000 1,000
01 At 22/l 1,000 0 1,000
Oo=24d=+¢ 1,000
—NIHIYSHARE FLLY
100, 000x5% *23| 1,000
03 &Ar2 I 20,000 20,000 0
ootz &H 20,000
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M LXelZ ot
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@2 0I23sH Jletxy (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— A2 FHI 20,000,000 20,000
206 M = Hl 25,000 19,600 5,400
01 M= bl 25,000 19,600 5,400
oot &H 25,000
— M E 4l 25,000,000 25,000
sl 29 120,000 240,000 A 120,000
307 212t01 & 80,000 160,000 A 80,000
02 DI2ZtZ AAMEE X 80,000 160,000 A 80,000
OO0t 0tE 2aAE XI&
20,000,000& *4J4 0t=2 80,000
402 QI2H X201 A 40,000 80,000 A 40,000
01 BIZtXIEAYE X (XM TH ) 40,000 80,000 A 40,000
OO0t 0t 2aAE XI&
20,000,000& *2J4 0Ot=2 40,000
DS2ssAH XANJHH 88 £ 29 21,120 18,920 2,200
201 Bt A | 21,120 18,920 2,200
01 AP 22l Yl 6,920 5,320 1,600
Odet=gH| 6,920
— 2ALE Xl (A4) 30,0003 x5 A x12& 1,800
— LHIAIREE S 2,000,000& 2,000
— 2SI dXE 200,000& *1CH=12& 2,400
— &80 Xz 60,000& *1CHx12& 720
02 3524t 4,200 3,600 600
03322 % MA 4,200
—0I23sH XNJ}HEH &2 S
350,000& x12& 4,200
03 #HAFS S HI 10,000 10,000 0
OliIS2ssHEEANY fF3E& S MA
10,000,000& 10,000
OlS=E232sH 24 S2AY 22,000 22,000 0
307 QI2t0| M 22,000 22,000 0
02 DI2HEAMAIEE X 22,000 22,000 0
O0ls s A2H X (Z2ZH BEXAY)
22,000,000 22,000
HE SssH 232 dESK 9,000 0 9,000
201 et A | 7,000 0 7,000
01 AFR 2t 2l dl 3,500 0 3,500
OJlEt2gH| 2,000,000 2,000
OANRES #*¢ 1,500,000 1,500
02 =294l 3,500 0 3,500
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el OIS3SH Jlgtxd (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OFYSK AIE&EH |X 2,500,000 2,500
O332YHI(EIIA, S8R2) 1,000,000 1,000
405 TtabH SH| 2,000 0 2,000
01 AR ESFH S 2,000 0 2,000
OFYEK A4 24 2,000,000 2,000
N2 stALS (M ALY ) 70,500 213,000 A 142,500
201 L4l 70,500 90,000 A 19,500
01 AR 22| 6,000 40,000 A 34,000
OZSH 2HHTIXE 0t3t012) 6,000,000 6,000
03 A2 64,500 50,000 14,500
OXNg oA I S4(0t2ns NE)
18,354,000 18,354
ontgssH sotgd (81 3R3l) 39,146,000 39,146
Ooiztgts H3As 6,000,000 6,000
OltsEsH S2AY £d3 1,000,000 1,000
oMot S2AY 70,000 0 70,000
< 21,000
= 49,000
307 gl2tol & 30,000 0 30,000
< 9,000
a 21,000
02 B HANEEE 30,000 0 30,000
O==Hd 43t =238 X2 30,000,000 30,000
=) 9,000
a 21,000
402 RIZER20| A 40,000 0 40,000
& 12,000
e 28,000
02 LA TEALEZ(0IETHR) 40,000 0 40,000
OzsH 32 el2€d dl& X& 40,000,000 40,000
< 12,000
s 28,000
Z)| #=s0s2els X € 2Y 1,093,176 0 1,093,176
< 551,988
s 541,188
307 glztol & 972,376 0 972,376
< 486,188
s 486,188
02 UAHFHAEEE 972,376 0 972,376
0204 &x #H=osel2(FE2)
366,516,000 366,516
< 183,258
= 183,258
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= 302,930
s 302,930
402 BI2FX=201 M 120,800 0 120,800
< 65,800
s 55,000
02 QI EASEZ (01X E) 120,800 0 120,800
O21d 4x d=0ts2elb (a7 2Ha)
110,000, 000 110,000
< 55,000
e 55,000
O#=0I2 @A RO SRE L
10,800, 000 10,800
= 10,800
OliXI&d UK S5 703,195 3,740,000 A 3,036,805
= 296,170
s 407,025
=S80 HUX 08 703,195 3,740,000 A 3,036,805
= 296,170
s 407,025
OuUX etz 2 & 2,000 0 2,000
203 ¥ S =&l 2,000 0 2,000
03 A=A HEF=LY 2,000 0 2,000
Ol X2l 2,000,000 2,000
SANIA BSAY 125,000 0 125,000
402 QI2H X201 M 125,000 0 125,000
01 IZt A=A 2 125,000 0 125,000
O AHstel 125,000, 000 125,000
ATHEHUHX ES At 100,000 100,000 0
402 BIZEXHE0I A 100,000 100,000 0
01 St =2AtE 2 100,000 100,000 0
O ==X A 100,000
— Y, BHed | & 100,000, 000 100,000
AN UK SN ALY 476,195 0 476,195
= 296,170
s 180,025
402 RI2FX=01 M 476,195 0 476,195
= 296,170
s 180,025
02 QI EAIL EZ (01T S) 476,195 0 476,195
O8NS (ESE) 476,195
— Y, e 476,195,000 476,195
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= 296,170
s 180,025
StetE 1,585,940 156,120 1,429,820
= 1,200,000
< 75,750
s 310,190
NYSot etE el 1,585,940 156,120 1,429,820
= 1,200,000
< 75,750
s 310,190
S)tetd 2 AHIAES 11,600 35,520 223,920
201 £B-2%H| 5,600 9,520 A 3,920
01 At 22l 5,600 9,520 A 3,920
Oget==EH| 2,000
—EHEIIAAL ERHS HE(MYIEES P
) 100,000 * 109H £ 1,000
— St BHo =22 1,000,000 1,000
o2g+g 3,600
—AHINZ BN FHLY
100,000 » 99 * 43 3,600
301 LEHZ 6,000 6,000 0
12JEEd=S 6,000 6,000 0
O2HEARE B4 100,000 » 5% = 128 6,000
JFEAZAESH &2 22 42,840 30,600 12,240
201 L2l 42,840 10,600 32,240
01 At 22l 33,000 1,300 31,700
Oget=&H| 33,000
—JIEAMZNEE BEE2E MA 3,000,000 3,000
—JIEAMESEE HA 2 30,000, 000 30,000
02 =24l 9,840 9,300 540
OA&ZEHl s Xl 9,840
— &3 JYE |2 820,000 = 12& 9,840
ANAANsaESHE 22X 1,500,000 90,000 1,410,000
= 1,200,000
< 60,000
s 240,000
301 LEEBA S 1,500,000 40,000 1,460,000
= 1,200,000
< 60,000
[ia 240,000
12JIE243 1,500,000 40,000 1,460,000
OJtgAgaEd ge2ds N&
1,500,000, 000 1,500,000
= 1,200,000
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< 60,000
s 240,000
Netn 2EX& 31,000 0 31,000
< 15,500
s 15,500
101 @144 Hl 26,400 0 26,400
< 13,200
s 13,200
04 JIZHHZ2XREES 26,400 0 26,400
OX<3tH OtAIH el 26,400,000 26,400
< 13,200
= 13,200
201 L2l 4,600 0 4,600
< 2,300
i 2,300
02 2324l 4,600 0 4,600
OXSEZ, JUE 2IH E(RBE) S
4,600,000 4,600
< 2,300
s 2,300
KNESH ZHAIAE WAL 500 0 500
< 250
e 250
201 L2l 500 0 500
< 250
s 250
01 At 22l 500 0 500
OX<SatH Z2MAAE JHA 500,000 500
< 250
[ia 250
MHFES 2,305,946 2,310,102 A4,156
< 139,206
[ia 2,166,740
ANE Ag2e & 29 1,677,500 1,627,092 50,408
< 127,500
[ia 1,550,000
AE 2el & R 48,000 51,000 A 3,000
201 Let24E] 27,200 37,200 A 10,000
01 At 22l 4,000 4,000 0
Oget=&H| 4,000
— 52 ANE 23HIE 7L 4,000,000 4,000
02 2324l 23,200 23,200 0
Oz22= & HMA 23,200
—52AE RS, =ER=
1,350,000 * 128 16,200
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ONMBHSIAMEAE N 25T
2,000,000 2,000
307 glztol & 8,800 8,800 0
05 RIZt2IE = 8,800 8,800 0
OJEAFANEZ = A
10,000,000 * 60/100 6,000
O0FANEFAEZ = A
2,000,000 * 70/100 1,400
OBBAZAMER F4 9
2,000,000 * 70/100 1,400
401 A& HIZ 2018 10,000 3,000 7,000
01 A& HI 10,000 3,000 7,000
O A E FXE* 10,000, 000 10,000
X Ns dSAE sS4 MY 1,380,000 1,576,092 A 196,092
201 Let24d] 30,000 39,050 A 9,050
03 & Ar2 Gl 30,000 39,050 A9,050
OSFUED A (EQEFH29Y) 30,000,000 30,000
401 Al HI K 2018 1,350,000 1,522,000 A 172,000
01 A& HI 1,350,000 1,522,000 A 172,000
OXSANE ZSIME2 ZEAS
1,350,000, 000 1,350,000
HSAE 243 XA 200,000 0 200,000
< 100,000
s 100,000
401 AIEHI L 2 0] 200,000 0 200,000
< 100,000
[ia 100,000
01 A& Hl 200,000 0 200,000
ONSAIE 0l HoAL &= 200,000,000 200,000
< 100,000
e 100,000
=2=43 UM XNSAS 49,500 0 49,500
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e 22,000
307 glz2tol & 49,500 0 49,500
< 27,500
s 22,000
02 It M AMHEE 49,500 0 49,500
O==43 UM &AL 49,500,000 49,500
< 27,500
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Hu: MAFE
&? SA0Y 4% X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
113/ 2SoHUHSZ&EAEALS I 175,686 123,400 52,286
OXIATHA HFE X ALY 20,000, 000 20,000
OS2I =St AAIE S UHSHAIE ALY
150,000, 000 150,000
OJIs=HAY 5,686,000 5,686
< 1,706
s 3,980
SSALAAR 22 20,600 20,600 0
201 Yete | 600 600 0
02 =224l 600 600 0
OSSLEAHER &I & =523 600,000 600
401 Al HIZ 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
OSSLBHAHER AIEE > 20,000, 000 20,000
A2 JIYEE HEAY 20,000 167,250 A 147,250
< 10,000
s 10,000
402 RI2HXt20l ™ 20,000 52,250 A 32,250
< 10,000
[ 10,000
02 2IZt 2 AL EZ (OIS ) 20,000 52,250 A 32,250
OAnE JIged MHEAY 20,000
—XOOoIXILH=xE LSS IHLAS
20,000, 000 20,000
< 10,000
i 10,000
HY2FZH (ZH D) 93,140 72,300 20,840
12 (FH D) 93,140 72,300 20,840
Jl2234 93,140 72,300 20,840
201 2Bt Ayl 43,180 43,180 0
01 At 22l 43,180 43,180 0
OgerxgHl (dXeldMU, 2H2A2Y) 35,980
— S ALEXI(A4) 30,000 = 254Kt = 12& 9,000
—=SAI EU 300,000 = 1CH = 3=l 900
— SAI =2l 600,000 = 1CH = 33 1,800
—ZgH EW S 400,000 = 700 = 23l 5,600
—ZoiZed &Y
400,000 = 1CH = 44 = 33| 4,800
—dEMNA, REPLEE S5 WX
1,000,000 * 2= 2t 2,000
—2NEELR, MY, BEEHX S 7
3,000,000 3,000
— LUAIRES 3,000,000 * 2= 1t 6,000
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BN eIy B

D HE2IZH(E M)
D=2 (3 H ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— W) e 70,000 » 128 * 231t 1,680
- 3J1&8&D] 50,000 » 128 » 204 1,200
O= &l 7,200
—ANZeZ2R gl
000& x5H 158 122 7,200
202 oddl 23,760 20,520 3,240
01 = LH o4 1l 23,760 20,520 3,240
OJlegs =¢ 90,000 » 229 = 12& 23,760
203 YR =] 8,200 7,600 600
01 II22EYE= 4,000 4,000 0
OZHMEXN=E 4,000,000 4,000
04 FN2EHRF 4,200 3,600 600
ORN2EYR 350,000 = 12& 4,200
401 AIEHI L 201 14,000 0 14,000
01 A& HI 14,000 0 14,000
OAtR 4 THEHXI 14,000, 000 14,000
405 XHoHF S HI 4,000 1,000 3,000
01 AL ESHS 4,000 1,000 3,000
OZIl & I3 4,000,000 4,000
Nees (Ll Z ) 215,000 220,000 A5,000
HEAHHK = 215,000 220,000 A5,000
HEHH X = 215,000 220,000 A5,000
705 ==& cl 34 215,000 220,000 A5,000
01l 34ase 200,000 200,000 0
OSg2ellI3 sA S 4 E(LPGHE 2 2 A )
200,000, 000 200,000
02 Ol === 0l Kt &t &t 15,000 20,000 A5,000
OSg2ellIZ3 A Ol K42 (LPGHH 2+ 2 ALY )
15,000, 000 15,000
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N = 0l & At & Ml A

CEH SR (BH) - NBAY - B2 o A o SSa H RS2

17,822,029 17,929,411 A 107,382
= 1,160,000
Dl 1,161,770
T 2,086,338
= 13,413,921

S0z XE 3,536,256 6,872,751 N 3,336,495
J| 220,530
T 1,429,575
= 1,886, 151

SEEZS 2=z L 4 1,608,294 4,697,511 A 3,089,217
= 1,203,500
= 404,794

o 22,000 0 22,000

29l 22,000 0 22,000

2l gl 22,000 0 22,000
=23 222 ME 22,000,000 22,000

=4 174,992 244,818 NB9,826

b} 174,992 244,818 NB9,826

AAFEE X 56,100 135,000 AT78,900
=25 56,100

—JIE3.15. SEOAN 25 M A}

18,100,000 18,100
—s0tel 2sud 29 35,000,000 35,000
—MEHd S 3,000,000 3,000

03 QAN EESAHE=X 118,892 109,818 9,074
O=3d 29 118,892
— 233 2¢ 118,892,000 118,892

A G 29X & 190,302 304,693 A 114,391

307 212t01 & 188,502 304,693 A 116,191

02 DIZtZAAMEE X 120,800 243,200 AN 122,400
Ost=2=22483 IHEXR 8,000
— AlHE SHOIE 2 2AIS 8,000,000 8,000
Ost=20sIt" Xl 3 25,000
—JlEWsSAMH=E 25,000,000 25,000
Ost=202 83 IR 8,000
— 28HX| g2t 8,000,000 8,000
Ogt=s283 IJIgXR 40,000
—AEAHEERS &H 40,000,000 40,000
OJtE&n 39,800
—&=FJ| S™UH 5,000,000 5,000
— = &d 4,800,000 4,800
—dE HdE28 #¢ 30,000,000 30,000

_59_




SN 2AHSD
M 2oos ds
el BERS 2R U S4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 BIAHMNHE2IHIEL 67,702 61,493 6,209
Ost=0uZEItE Xl & 67,702
— =234l 67,702,000 67,702
402 2I2H X201 M 1,800 0 1,800
01 2I2F 2 A B (RERTH &) 1,800 0 1,800
OJrE g 1,800
—dEHMd 2l ¥ SSFL(MSII700)
1,800,000 1,800
ZIIE esd=HM EoHX& 15,000 10,000 5,000
< 4,500
e 10,500
307 glz2+ol & 15,000 10,000 5,000
= 4,500
fia 10,500
04 QIZFHALAIH E = 15,000 10,000 5,000
OZJI& e=o=HM LA 15,000, 000 15,000
< 4,500
s 10,500
Helz U ols 10,000 15,000 A5,000
< 3,000
= 7,000
307 21201 A 10,000 15,000 A5,000
< 3,000
[ia 7,000
02 B AAHEX 10,000 15,000 25,000
OHelz uz = 10,000, 000 10,000
< 3,000
= 7,000
g 233 A A8 1,196,000 3,493,000 A 2,297,000
< 1,196,000
401 Al HI K 201 I 1,196,000 3,493,000 A 2,297,000
< 1,196,000
01 A& HI 1,196,000 3,493,000 A2,297,000
OJNEEZstJA AL HE 1,196,000, 000 1,196,000
< 1,196,000
NEz2s0=s 2E 1,927,962 2,175,240 N247,278
J| 220,530
= 226,075
e 1,481,357
=otol=d A OHE 2 X 27,600 77,000 A 49,400
203 R =&t 5,600 7,000 A 1,400
03 AIHF=XH R =AY 5,600 7,000 A 1,400
O2dE =2 2,400,000 2,400
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OR23 43 (d) 3,200,000 3,200
401 Al B2 28I 22,000 50,000 A 28,000
01 A& HI 22,000 50,000 A 28,000
ORXd 8 =8E 22,000,000 22,000
ROt 23S 108,000 108,000 0
< 21,600
i 86,400
307 Qiz2tol & 108,000 108,000 0
= 21,600
i 86,400
04 DIZHHALALSE E X 108,000 108,000 0
OO0l B3ES 108,000, 000 108,000
< 21,600
i 86,400
ZotHIR ™ At 317,000 279,720 37,280
| 220,530
< 14,460
= 82,010
307 2Iztol ™ 317,000 279,720 37,280
| 220,530
< 14,460
= 82,010
02 RIZFE MM E X 317,000 279,720 37,280
OSE230I2A A 317,000,000 317,000
J| 220,530
< 14,460
i 82,010
SsSE0l=2 NJAAY 68,582 73,720 25,138
< 20,515
i 48,067
201 et 200 200 0
01 At 22l 200 200 0
OZ2AME0l=2 X3AAS 200,000 200
307 2Iz2tol ™ 68,382 73,520 25,138
< 20,515
s 47,867
02 PIZHEHAHEE 68,382 73,520 AN5,138
OXNYZstlzs 23 SLAY 68,382,000 68,382
< 20,515
[ 47,867
=3tz JI23H X 100,000 80,000 20,000
201 L2l 50,000 80,000 A 30,000
03 A2 Z Hl 50,000 80,000 A 30,000
O=23tdl= J183H X 50,000, 000 50,000
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fAM: 2=
M 2oos ds
&4 XNFEso=zs s CHel & 2 )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
201 Le-2d| 465,000 0 465,000
01 At 22l 92,000 0 92,000
O232491939 2 2l 92,000, 000 92,000
02 =224l 133,000 0 133,000
OZ22223 % HMAl 90,000, 000 90,000
OA&&EHl Sl 43,000,000 43,000
03 A2 Z Hl 240,000 0 240,000
O8Ya1939 Tz 1A (3H)29 |
200,000, 000 200,000
O3UA1939 2EHE ZAHE 40,000, 000 40,000
A2dst2t JHE 1939A1 Ul O 20,000 8,800 11,200
201 Let24d] 20,000 0 20,000
02 =24l 20,000 0 20,000
O2323 ¥ HMAl 10,000, 000 10,000
OA&&EHl Sl 10,000
—d2ds2t Al Pool =Xl2eldl
10,000, 000 10,000
JIE 2stod 280z N¥ =220 274,000 300,000 226,000
< 137,000
[ia 137,000
307 21201 A 274,000 300,000 A 26,000
< 137,000
e 137,000
04 QIZFHALAIE B = 274,000 300,000 226,000
OZJl& 289 ¥ 2l NJ T2
274,000,000 274,000
= 137,000
[ia 137,000
a3 A 100,000 100,000 0
< 30,000
[ 70,000
201 L2l 100,000 100,000 0
< 30,000
e 70,000
03 A2 Z Hl 100,000 100,000 0
OMsERXE ALY 40,000, 000 40,000
< 12,000
[ia 28,000
O=232SHANJAAZ 30,000, 000 30,000
< 9,000
e 21,000
O=gtotataol=2g 30,000, 000 30,000
< 9,000
s 21,000
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fAM: 2=
M 20z s
SR EEELTER (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S0 Has N 5,000 10,000 A5,000
< 2,500
s 2,500
307 gl2tol & 5,000 10,000 A5,000
< 2,500
s 2,500
02 It HAHE L 5,000 0 5,000
O3¢d 2= X& 5,000, 000 5,000
< 2,500
= 2,500
ZE =) X S8 &42d8=3 &9 1,250 0 1,250
306 42 1,250 0 1,250
01 &3 1,250 0 1,250
O2" =) XN Scl28 4283 9
1,250,000 1,250
=M zel 30,000 30,000 0
=Mz & XA 30,000 30,000 0
NEsH g & =24 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OFE 28 dA 30,000, 000 30,000
Hsitd =4 9,850,849 9,921,510 AT0,661
J| 941,240
= 106,026
s 8,803,583
MBS =4 403,293 387,727 15,566
J| 191,240
< 106,026
s 106,027
HEHMSXESA BEX 175,392 173,808 1,584
J| 87,696
S 43,848
i 43,848
307 glz2tol & 175,392 173,808 1,584
J| 87,696
< 43,848
s 43,848
02 It MAMHEE 175,392 173,808 1,584
Oger M =X =X BiXI 175,392,000 175,392
J| 87,696
= 43,848
s 43,848
MEMS XA I (H24) 58,464 57,936 528
J| 29,232
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2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

=

i
2m

M

14,616
14,616

307 21201 &

S

UL

58,464
29,232
14,616
14,616

57,936

528

02 I FHAANEEE

58,464,000

N

UL

58,464
58,464

29,232
14,616
14,616

57,936

528

MY EZ X X (FOH

S

M

87,696
43,848
21,924
21,924

86,904

792

307 glztol &

S

M

87,696
43,848
21,924
21,924

86,904

792

>

87,696,000

S

UL

87,696

87,696
43,848
21,924
21,924

86,904

792

UNE

25,098

12,549
12,549

19,542

5,556

307 21201 &

EUNL

25,098

12,549
12,549

19,542

5,556

25,098,000

M

25,098

25,098

12,549
12,549

19,542

5,556

H=ESA AlEAL

S

M H

43,520
30,464
6,528
6,528

36,480

7,040

307 21201 A

S

M H

43,520
30,464
6,528
6,528

36,480

7,040

=
e
i
o
0z
>
1Q
H

EN
Ed NEAY

O
[>
Hel
[
0¥
k_.?j
o

43,520,000

S

EUNL

43,520
43,520

30,464
6,528
6,528

36,480

7,040
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EX: S3Hs
HEM: ALY 4
chelr MEHS S4 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MENSEXNEX dRME(LBH H24) 9,544 9,496 48
= 4,772
= 4,772
307 2Iz2t0| A 9,544 9,496 48
< 4,772
= 4. 772
02 QIZHEAAIRE E X 9,544 9,496 48
Oget 24 MEHSANESXN HRMA
9,544,000 9,544
< 4,772
= 4,772
MENSKNEX HRME(ZOHQ) 3,579 3,561 18
< 1,789
= 1,790
307 212t0| & 3,579 3,561 18
o 1,789
= 1,790
02 DI AAIE E X 3,579 3,561 18
OHOMe MEHESTAZAH HSMA 3,579,000 3,579
= 1,789
= 1,790
HEIIBIAIE S=(EX) 750,000 200,000 550,000
J| 750,000
SZ2HSAIE HES 750,000 200,000 550,000
J| 750,000
401 AlEHIZL 2 0HY| 750,000 200,000 550,000
J| 750,000
01 Al&H| 750,000 200,000 550,000
OZXZS20ASHE SSAE WS
750,000,000 750,000
J| 750,000
HMEIIBLAIE &= (XHA) 1,871,000 4,603,000 N2,732,000
22HSAlE AU 561,000 916,000 A 355,000
401 Al EHI L 204 561,000 866,000 A 305,000
1 Al&H| 555,000 860,000 A 305,000
OZ2Z2HM=AI4 Hy| 60,000,000 60,000
OMENEZ2E A2 40,000,000 40,000
OJ}EOI s & AIEdZEH Z2A 170,000,000 170,000
OgAe HOE=ZE AMEIMNSEZAL 40,000,000 40,000
OZ22HM=SAE SHEH & DA 70,000,000 70,000
OFHSHE 2oHsHEH 2% M2 X4
A X 40,000,000 40,000
Ot 22 =29 £AXET DA
25,000,000 25,000
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2N

Z M = ot

HH: YR K4
el MFINIBAE (XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFESE RaMsHE +=2EH &3
25,000,000 25,000
OZXZEHUAZ HYERX 2& 85,000,000 85,000
03 Al S THHI 6,000 6,000 0
OZ232MsAE EHl 6,000,000 6,000
FEHLUAE 0l EXISA 950,000 0 950,000
401 AIEHI L 2 CHEI 950,000 0 950,000
01 A& Bl 950,000 0 950,000
OFEHUAZ 0l AXISA 950,000, 000 950,000
o2l Sd U=SH MERdH =4 360,000 0 360,000
401 Al HIZ 201 I 360,000 0 360,000
01 A& HI 360,000 0 360,000
Odsotz e O=sd da=stdyd =4
360,000, 000 360,000
H=s=s4d 4,297,759 4,230,783 66,976
HMSEXE 22 42,600 47,000 A 4,400
201 Let249] 27,000 30,000 A 3,000
01 At 22l 3,000 3,000 0
ON=sgRNA 222 M&E S 3,000,000 3,000
02 23224l 24,000 27,000 A 3,000
OXM=EAE 222= 7,000,000 7,000
OM=SAE st&4 |2l 17,000, 000 17,000
203 R =& 5,600 7,000 A 1,400
03 AIMZ=XH R =AY 5,600 7,000 A 1,400
OMsa43(E) 5,600,000 5,600
401 AIEHI L 2 CHYI 10,000 10,000 0
01 A& HI 10,000 10,000 0
OMSAE EEH 10,000, 000 10,000
UM L35 2,531,120 2,781,277 A 250,157
307 21201 A 2,471,260 2,781,277 A 310,017
02 It S AIHE L 712,360 741,536 A29,176
OMENMESX X X 84,300,000 84,300
O% - -&dad s 4 382,690
—SNdEEME 4 213,890,000 213,890
—GAEZXZYE |4 98,000, 000 98,000
—NHEZAEZXE B4 70,800,000 70,800
OzatH &4 160,000, 000 160,000
O2=3EAMY X& 20,000, 000 20,000
oAuUddE 4 XA 6,000,000 6,000
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2H: 23S
HE: MY Sk
A

o9l MRS

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— == ZO0HQ MEMSOUS N
10,000, 000 10,000
—dICe FOY MU N
15,000, 000 15,000
AE2sFITE 249 N 1,047,676 1,111,136 A 63,460
206 M= Hl 70,780 70,000 780
01 24l 70,780 70,000 780
OAt0I2 237¢ 70,780,000 70,780
301 LBEAS 976,896 1,005,136 N 28,240
V=t - 2SRS24= 976,896 1,005, 136 A 28,240
@il 554,000, 000 554,000
Osd ¥ Ual=dbl 240,676,000 240,676
Oggrd 2l 182,220,000 182,220
NERsZINR 29 N (S4) 290,120 0 290, 120
206 TH 2 H 30,000 0 30,000
01 24l 30,000 0 30,000
osd =3+7¢ 30,000, 000 30,000
301 LEeBAF 260,120 0 260,120
o=t - 2S2S24=3 260,120 0 260,120
ool 136,560, 000 136,560
Ozd ¥ Ual=dbl 42,150,000 42,150
Ooget2datell 81,410,000 81,410
MEE I0UMSHH HE(BX) 2,500,000 500,000 2,000,000
dot Bl 2Ms4H AE 2,500,000 0 2,500,000
401 Al HI K 201 I 2,500,000 0 2,500,000
01 Al&HI 2,500,000 0 2,500,000
O« BHiHl 23S HH AE
2,500,000, 000 2,500,000
20208 MSAIE o= 28,797 0 28,797
JtEel S0 E ol s+ 16,728 0 16,728
401 AIEHI L 201 16,728 0 16,728
01 A& HI 16,728 0 16,728
OJN&Eelsor& ==+ 16,728,000 16,728
IESE2SE =228 =ol=+2 12,069 0 12,069
401 AIEHIZL 201 12,069 0 12,069
01 A& Bl 12,069 0 12,069
OZg2sd =22% =ol=2+ 12,069, 000 12,069
ZotRret BEE Y &2 2,613,890 1,052,000 1,561,890
= 1,160,000
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fAM: 2=
M 23|M BE U e
el dS23 & 2N 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 550,737
s 903,153
HdEEE & 2N ES 2,613,890 1,052,000 1,561,890
= 1,160,000
< 550,737
s 903,153
SHERM B+ Y HH| 312,400 466,900 A 154,500
201 £B-2dH| 16,900 6,900 10,000
01 At 22l 11,400 6,400 5,000
O=<ecln% 23 g2 222 MH
10,000, 000 10,000
OBESSNLEAAE S 2H4+0 U 8
2= 1,400,000 1,400
02 =224l 5,500 500 5,000
O=slEHS RSEER 500,000 500
O=stM o2+ 5,000,000 5,000
401 AIEHI L 2 CHEI 295,500 285,000 10,500
01 A& tl 295,500 285,000 10,500
O=ZstM &=z &l 180,000, 000 180,000
OJtEegn 2+3H| 93,500, 000 93,500
O=stM =8¢ #3HHEH 22,000,000 22,000
EXNE 23 2+ & Fl 475,850 69,500 406,350
< 232,545
s 243,305
401 Al HIZ 201 I 475,850 69,500 406,350
< 232,545
s 243,305
01 A& HI 475,850 69,500 406,350
OOlARZE A MM 370,000,000 370,000
= 185,000
[ia 185,000
OEXNZEEZa M &AEE 22l 9,000, 000 9,000
< 4,500
s 4,500
OSMNESE FH2 B 51,150,000 51,150
< 25,575
[ia 25,575
OXEY Jl4d E&EXHel 18,800, 000 18,800
< 9,400
s 9,400
O0ldE 10t MII&Hl XI=s 14,900, 000 14,900
< 4,470
s 10,430
OEXNZEZa M MHEXAIE KX 22
12,000,000 12,000
< 3,600
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Z oM =t
=R BE Y 22
S22 ¥ 23 25 CEE-ED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
| o 8,400
dSAE BEEEHI 410,640 384,000 26,640
= 180,000
< 105,192
s 125,448
402 2I2HXHE01 M 410,640 384,000 26,640
= 180,000
< 105,192
s 125,448
02 2IZE X2 AR B & ( 2 410,640 384,000 26,640
OUAA T E =D el &l
360,000, 000 360,000
= 180,000
< 90,000
fia 90,000
O A o= 50,640,000 50,640
= 15,192
s 35,448
=M 2O AEME 5,000 5,000 0
201 L2l 5,000 5,000 0
01 At 22l 5,000 5,000 0
OE=2StM & =2 = &2 5,000,000 5,000
AHS EEAHO MEX 10,000 16,600 A 6,600
< 3,000
s 7,000
307 21201 A 10,000 16,600 A 6,600
< 3,000
[ia 7,000
02 It S AIHE L 10,000 16,600 26,600
OHEZAHO XNFAAL 10,000, 000 10,000
< 3,000
e 7,000
NHKNE=2SMH L SE=2 B&FUNA(=2A , 120,000 110,000 1,010,000
® BEHE L AS A =
= 784,000
< 168,000
= 168,000
402 RI2HXt20l ™ , 120,000 0 1,120,000
= 784,000
< 168,000
[ia 168,000
02 212t 2 AL EZ (01X , 120,000 0 1,120,000
OSSA 2EH XY EF A2 HHE
= (28 W) 1,120,000, 000 , 120,000
= 784,000
< 168,000
s 168,000




2N 2HMSH
HH: 2sfa PE U 22
oo WESs 2 2H 25 (el x2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SN2 L SERIM EZHIANYJ(EEM 280,000 0 280,000
SZ F¥ M2 HHIA
= 196,000
= 42,000
= 42,000
402 QI2tXt=01 & 280,000 0 280,000
= 196,000
= 42,000
s 42,000
02 (I RH2ALEX(0IETHR) 280,000 0 280,000
OB SAt HEEH 15 HES AL 280,000,000 280,000
= 196,000
= 42,000
= 42,000
Y2 (BH=s221) 39,910 53,150 A13,240
J=2Ztl(2a s D) 39,910 53,150 213,240
Jl=ZHl 39,910 53,150 A13,240
201 2Bt2 30,190 30,190 0
01 At 22l b 29,230 29,230 0
Oget+=gH| 22,230
— SAMESX 25,300 = 15&f X+ » 12& 4,554
— 2 A 80,000 » 4&8rA 320
—S2NEEEX 20,000 » 20=% 400
—SNEEYL 60,000 » 4&8rA 240
—HEEF 90,000 » 28tA 180
—SAJ BN 220,000 » 104 = 43 880
—ZgH &Y 338,000 = 401 * 33/ 4,056
—ZZEH &Y
600,000 » 4CH » 23 * 25 9,600
—JISEMNRES 2,000,000 2,000
O=&Hl 7,000
—A2AAZ 2T S 20 A 7,000,000 7,000
02 3524t 960 960 0
OZ2Z22=<HA 960
— SATVAIER 80,000&  12& 960
202 o4 Hl 6,120 18,360 A12,240
01 SLHO I 6,120 18,360 A12,240
A2 JI=2048] 30,0008 » 17& = 128 6,120
203 2R =AY 3,600 3,600 0
04 FAE2EE =L 3,600 3,600 0
ORN2ZERFAH 300,000& * 12& 3,600
HE2es 1,751,124 0 1,751,124
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1,095

2,029
1,095
1,095

&
&
- 73 -

X
X

2,029,000
1,095,000

MEH X SR HH XA
MEH X SR HH XA
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Al
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N & o & AF & H Al A
20219 &= = 0llat LB & XA
SN 2D
Hu: 2y o 25 2 el
el BEAIINY (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ry 3,141,731 15,872,702 212,730,971
J| 45,100
< 69,000
s 3,027,631
2t J|gt &3 % 2te 2,507,852 12,406,907 A 9,899,055
J| 45,100
< 69,000
[ia 2,393,752
22 AN 1,276,652 2,789,547 A 1,512,895
Tets wEy 2y 612,372 1,251,298 638,926
101 @124l 147,952 59,458 88,494
4 JI2ZtHZ22 s+ 147,952 59,458 88,494
O0lstad 2% el 147,952
— 0l3t& eyl 147,952
ol A bl 69,7603 x5H 128 x24L 100,455
ez 104,640 »5H 8 4,186
Faxd 69,7603 «5H x12& x4 16,743
= DN E= 69,760& x5H x12 4,186
I =dl 200,000& x5H 1,000
MEUSZENS 5,209 x5H «308 8,022
JHEE = 133,592,000& *10% 13,360
201 YEr2 Y| 154,420 82,840 71,580
01 At 22l 19,960 13,840 6,120
O&AZTXHEAH 9,960
— 2ot=ZH| 9,960
fodHEY 330,000& * 14 2 %123 3,960
SZI mX2el 200,000 12& 2,400
AR Sl FSIE R e 300,000& =123l 3,600
Oolstd 29 2l 10,000
— =3l 10,000
Olstd 2Z23 #2  2,000,000& 53] 10,000
02 =224l 134,460 69,000 65,460
Oolstd 29 22l 99,600
—532= ¥ HMAl 39,600
&Aoot R23 150,000& =128 1,800
SR = 3,000,000& x12& 36,000
H3R3 150,000& »12& 1,800
— A ZHl 50,000,000& 50,000
— A4 ZHI =Xl 10,000
Olztd Al Xl 2cl 10,000, 000& 10,000
O=aAZXHSHH 22 2l 29,460
—332= % HMAl 14,460
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SN 2D
Hu: 2y o 25 2 el
el BTAYNY EEREED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
A EERS 200,000& = 12& 2,400
HIIR22 1,000,000& x12& 12,000
N33 5,000& x12& 60
— A& &Hl s Xl 15,000
SMAT XS HE AR 22
15,000,000& 15,000
Oftetd 29 22l 5,400
—32=2=2 % MA 5,400
I3 450,000 12& 5,400
206 M= Hl 15,000 10,000 5,000
01 &2 bl 15,000 10,000 5,000
Oolsta 29 22l 15,000
—0l3te £=2 22(H2, 22, ™OULSEA)
15,000,000& 15,000
401 AIEHI L 201 295,000 399, 000 A 104,000
01 Al&Z Bl 295,000 396, 000 A 101,000
OXterd e E Ald e 200,000
IPEVS?:”%"&(C.’JLH -Xet&S W) BEEEE
S HI S AL 200,000,000& 200,000
OXtetd sE U ALY 50,000
— L2004y 2 8F 5,000,000& x4 3] 20,000
— AN&EZ2 3H| 3,000,000& *103] 30,000
OO0Igt& A4 HHIAIL 45,000
—0l3t& AlE &Hl 30,000,000& 30,000
—LIR0la & 8F 5,000,000& *x33] 15,000
22 TGRAAE 2H 22 664,280 600,249 64,031
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< 4,500
s 10,500
03 BIZHNHE2IHIEL 35,000 35,000 0
OXgGAsIEZE M 48 XI& 35,000,000 35,000
< 10,500
[ia 24,500
S¢S NIAEZEAN 43 XA 6,000 6,000 0
< 1,800
e 4,200
201 L2l 6,000 0 6,000
= 1,800
s 4,200
01 At 22l 6,000 0 6,000
OSd¥E NGANISHEAM 435 X (Lt
29l) 1,000,000& 61 S & 6,000
< 1,800
i 4,200
SH NIGASBHEAM 43 NA(KHA) 18,000 21,400 A 3,400
201 LBH2E| 18,000 0 18,000
01 At 22l 18,000 0 18,000
o2g+¢ 18,000
—SHEAN /s &+ 18,000, 000 18,000
?I101=2 &= XN& 12,690 0 12,690
< 3,810
s 8,880
301 EEd = 12,690 0 12,690
3,810




SH SNEHY
B X AAS =N A

el olEe 23 GEERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 8,880
09 HALAHI X &= 9,390 0 9,390
OS89 XNEANSIBEEHEEON 02t SsIH
9,390,000 9,390
= 2,820
= 6,570
12 JIEtE &2 3,300 0 3,300
OguAMI=XNZ2FJ A& 3,300,000 3,300
T 990
= 2,310
HHSAHU (SR 40,520 53,158 AN 12,638
2l (=X E =) 40,520 53,158 N 12,638
Jl2&| 40,520 53,158 N 12,638
201 et A | 32,360 28,038 4,322
01 AFR2t2ldl 31,160 28,038 3,122
Ogt+2H| 20,600
— ZSAMEEXFL(AL) 25,0003 *84A Ktx12& 2,400
ALAIREE Y 150,000& *21H 3,150
—N&, 85 & HE 2 100,000& *123] 1,200
— UM THIY U AU TS
250,000& *123] 3,000
—SA EHFEY 250,000 *1CH *23] 500
— T2l EHFY 300, 000& *6CH x23] 3,600
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— 22T el &Y 300,000& *3CH *13] 900
o8| degz 106, 800& *123] x95% 1,218
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OZ &l 8,000
— AZ2tA 22X E 2 0HAH| 8,000,000 8,000
02 3294l 1,200 0 1,200
O 2222 2 HMAl 1,200
—g2E FUHAES Salyl
100,000& x1CH*123] 1,200
202 04| 4,560 20,520 A 15,960
01 2L Y| 4,560 20,520 A 15,960
OgRFXII20 Yl 20,0003 *19H x12& 4,560
203 &R =&H| 3,600 3,600 0
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el LolsXALRY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| o 2,521,800
LOFIRY AIESH 9,209,000 8,770,986 438,014
= 4,604,500
s 4,604,500
301 LEHZ 9,209,000 8,770,986 438,014
= 4,604,500
s 4,604,500
01 MI2EZE 6= 9,209,000 8,770,986 438,014
OLQREIIQAAL AAHES Xd
9,209,000, 000 9,209,000
= 4,604,500
s 4,604,500
LOQRAANE 2Y 243,872 280,763 A 36,891
= 73,162
s 170,710
307 gl2tol & 243,872 280,763 A 36,891
< 73,162
[ia 170,710
11T ALS S RAEE = 243,872 280,763 A 36,891
OLAANLd 29 X 243,872,000 243,872
< 73,162
s 170,710
Loz - QAANE BAN Ex2RY S 291,999 314,045 A 22,046
< 29,200
e 262,799
301 LPEXZ 200,280 216,600 216,320
= 20,028
s 180,252
01 MEIBZE 06z 200,280 216,600 A 16,320
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200,280,000 200,280
< 20,028
e 180,252
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< 9,172
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< 9,172
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< 4,200
301 LPEHZ 4,200 4,200 0
< 4,200
01 A EE E 2563 4,200 4,200 0
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AABD BIF LM CER-ED
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
01 MI2EZE+06l= 180,000 180,000 0
OJzMERE4 bR Ll N
180,000, 000 180,000
< 54,000
e 126,000
Colgliel =Dl SAA HRIHLH XA 7,800 7,200 600
< 7,800
301 LEd = 7,800 7,200 600
< 7,800
01 MI2EZE +05l= 7,800 7,200 600
OLQIAR el 482 SAX H2HLY X
7,800,000 7,800
< 7,800
THOHE O ALAMHH 262,500 240,000 22,500
= 26,250
s 236,250
307 gl2tol & 262,500 240,000 22,500
< 26,250
[ia 236,250
11 ALS S XALEE = 262,500 240,000 22,500
OMAS MOt el AABE XI& 262,500,000 262,500
< 26,250
[ 236,250
AS LJT 2oABLE 2 56,100 56, 100 0
< 16,830
i 39,270
301 LEAZ 56,100 56,100 0
< 16,830
i 39,270
01 MEIBZE 06z 56,100 56,100 0
OMAS Lot A
56,100,000 56,100
< 16,830
e 39,270
SHCASSZHO 239 2y 66,640 31,672 34,968
J| 33,320
s 33,320
307 gl & 66,640 31,672 34,968
J| 33,320
s 33,320
11T M Z2XASE EX 66,640 31,672 34,968
OSHUSSHOM Milas 29
A& 66,640,000 66,640
J| 33,320
e 33,320
LCOlAEHIE X 45,157 38,438 6,719
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el A D EBIIR LEME UE (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 13,547
s 31,610
307 glz2tol & 45,157 38,438 6,719
< 13,547
s 31,610
11 AISI S AAISEE = 45,157 38,438 6,719
Ookolagdy 29 XA 45,157,000 45,157
< 13,547
s 31,610
HX&= <o XA 2,600 3,000 A 400
< 1,300
= 1,300
307 21201 A 2,600 3,000 A 400
< 1,300
[ 1,300
11T M3 SXAISEEX 2,600 3,000 A 400
OHXs= HEd XI& 2,600,000 2,600
= 1,300
s 1,300
LOo=EX ME2ES 10,380 10,380 0
< 3,114
s 7,266
307 gl2tol & 10,380 10,380 0
< 3,114
[ia 7,266
11 AS S RAEE = 10,380 10,380 0
OZ2d & LoXsg o5 M2z
10,380, 000 10,380
< 3,114
s 7,266
Lolg 24 N& 216,747 263,682 A 46,935
307 21201 A 216,747 263,682 A 46,935
03 BIZIFHHEE2IHIEX 165,377 153,522 1,855
o294l & 155,377,000 155,377
11 AISISAAISEE = 61,370 110, 160 248,790
Okolmal(Loltis) 29 X 61,370,000 61,370
AMEIEX EE X 12,800 13,800 21,000
201 Let2d]| 4,000 2,800 1,200
01 At 2teltl 4,000 2,800 1,200
o=zg=¢ 4,000
—AJ3 FHxH 100,000& 10X »43| 4,000
203 R =&l 8,800 11,000 A 2,200
03 A F=AH S =AY 8,800 11,000 A2,200
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAMsI=X g2 =& 5,600,000 5,600
OFUXA 22 =X (H) 3,200,000 3,200
LOEESAHIA HE2AZA & SSAHHARE 32,400 32,400 0
EEBE
307 glz2+ol & 32,400 32,400 0
11T MISXASEX 32,400 32,400 0
OLQUBESHUIA YBR2AMN L L SSA
HARP E3Hl XI&2,400R3 x»45H 252 x 123 32,400
LoldXiel eI SMX E22E A 3,600 3,000 600
= 360
s 3,240
301 LEAZ 3,600 3,000 600
< 360
s 3,240
01 MEI2EZE 405z 3,600 3,000 600
Ok gRtel =8I 2 BAX E+22
3,600,000 3,600
< 360
e 3,240
LolgtEEsSAEIAMY XI& 810,970 803,070 7,900
= 567,670
S 36,495
s 206,805
307 glz2+ol & 810,970 803,070 7,900
= 567,670
< 36,495
s 206,805
11T M 2XAIS EX 810,970 803,070 7,900
OLoAdESsSAHMEIAAMY XIS 810,970,000 810,970
= 567,670
< 36,495
s 206,805
COIHIIERAIE & FOHOJAIL &5 2,723,236 2,891,755 A 168,519
= 89,702
< 281,241
[ia 2,352,293
Lo=EN2 29 1,040,000 1,040,000 0
< 104,000
[ia 936,000
307 21201 A 1,040,000 1,040,000 0
< 104,000
e 936,000
10 ALSISEXAIEEE2GHEX 1,040,000 1,040,000 0
O =Xa 244 & o1Add XN&
1,040,000, 000 1,040,000
< 104,000
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Hu: Lo=XEA
et CQIOIDIEIAIE QL EOIHOAL 25 (B9 ®R)
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| o 936,000
LoEXE S AL Ex2R2FY 25,800 24,000 1,800
< 2,580
= 23,220
301 LEHZ 25,800 24,000 1,800
< 2,580
= 23,220
01 MI2EZE 6= 25,800 24,000 1,800
Oke=Xa & BAMK E=22E &
25,800,000 25,800
< 2,580
= 23,220
LOoI=EX2 & SA HRHMLH] 10,200 8,400 1,800
< 10,200
301 LPEAZ 10,200 8,400 1,800
< 10,200
01 Mel28HE 6= 10,200 8,400 1,800
OokLol=xa & M MM X
10,200, 000 10,200
< 10,200
ColsX2 M Hes 40,000 40,000 0
307 21201 A 40,000 40,000 0
11T AR S XA E =X 40,000 40,000 0
OLQ=RX2 MOHMHLSAY X 40,000,000 40,000
FE2AE Raa4 205,920 132,678 73,242
< 20,592
s 185,328
307 gl2tol & 205,920 132,678 73,242
< 20,592
fia 185,328
11T AISI S XA E = 205,920 132,678 73,242
OLo=X2 24y 2RI Xa
205,920,000 205,920
< 20,592
s 185,328
FE2AE FHALR oAb 52,320 38, 160 14,160
< 5,232
s 47,088
307 gl2tol & 52,320 38, 160 14,160
= 5,232
[ia 47,088
11 AS S XA E = 52,320 38, 160 14,160
Oko=Xa FZ2AGE HAF b X&
52,320,000 52,320
S 5,232
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G2 SONIIEXNAIAY L FOUHIANL &= (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| o 47,088
dee AxF 2 B 128,060 335,598 A 207,538
401 AlEHIZ 201 Y| 20,000 30,000 A 10,000
01 Al&H| 20,000 30,000 A 10,000
OHRY ARDIHMES 20,000,000 20,000
402 SI2FXHE0| & 108,060 305,598 A 197,538
01 BIZtXIEANYE X (KM ) 108,060 305,598 A 197,538
O&Zd=2zYd ARALZINES 108,060,000 108,060
A2 29 NS (XHAD) 352,630 374,158 N21,528
307 QI2t0| & 352,630 374,158 N21,528
10 A SXNANEEHESIHEX 170,340 170,340 0
OZzd 29l I XN 170,340,000 170,340
11T A EXAIEEX 182,290 203,818 N21,528
OZ=E 431 LAelAY 103,800,000 103,800
Oz Zz )1 29 23,380,000 23,380
Z=3Fd2Y 2HHl FIF NS 10,020,000 10,020
OZ2=2% StMEE=z AH 25,050,000 25,050
Od2E A= X 20,040,000 20,040
dze 249 N 308,760 308,760 0
o=t 30,876
2 277,884
307 2iz2to| & 308,760 308,760 0
< 30,876
= 277,884
11T AISIEXAIEEX 308,760 308,760 0
Odz4Y 294l J& 308,760,000 308,760
= 30,876
= 277,884
A2 Witgtyl & 2¥k=H| XN 358,806 359,961 A 1,155
= 89,702
< 80,731
= 188,373
307 QI2t0| & 358,806 359,961 A 1,155
= 89,702
= 80,731
= 188,373
11 A EXAIEEX 358,806 359,961 AN 1,155
OZ2E Wetgry] @ 2k=2H| X«
358,806,000 358,806
= 89,702
o= 80,731
= 188,373
d2E 243 12,000 12,000 0

- 125 -




2N HE=S
By Lo=xEd
G2 SONIIEXNAIAY L FOUHIANL &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,200
= 10,800
307 2iz2to| A 12,000 12,000 0
= 1,200
= 10,800
10 MM SAANEEHESIGHEX 12,000 12,000 0
Odz4 g4 Tz X 12,000,000 12,000
& 1,200
= 10,800
B2EY Al E=E 149,400 149,400 0
& 14,940
= 134,460
301 et M= 149,400 149,400 0
& 14,940
o 134,460
01 M EXEE 252 149,400 149,400 0]
OHZE A3 &=Hl X 149,400,000 149,400
o=t 14,940
= 134,460
2 A M=H K& 8,640 8,640 0
301 LBt A= 8,640 8,640 0
01 Al E& A %52 8,640 8,640 0
OZ2Y 24 MHaH XN (¥=) 8,640
—0sE 2 (1200A)
60,000 *« 120HA + 12& 8,640
EAHLQ YOI &G A K& 20,000 20,000 0
& 6,000
= 14,000
307 2iz2to| A 20,000 20,000 0
& 6,000
= 14,000
10 MM SAANEEHESIGHEX 20,000 20,000 0
OSAHLQ Jtdlol&EdtA X 20,000,000 20,000
o= 6,000
= 14,000
d2E gdd9i=s XJ 8,300 0 8,300
= 2,490
= 5,810
307 QI2t0| ™ 8,300 0 8,300
= 2,490
= 5,810
11T A EXAIEEX 8,300 0 8,300
OZzd gHLi= X 8,300,000 8,300
= 2,490
= 5,810
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J| 204,850
e 204,850
10 ALSISXAIEEE2EHEX 406,700 400,300 6,400
O2ZIE & U2IHEXNJHEH 2l
406,700,000 406,700
J| 203,350
s 203,350
11T MISRASEX 3,000 0 3,000
OO0t 22004 CUOISAY
3,000,000 3,000
J| 1,500
s 1,500
2208 U230tE XNJAHH SMK Ex22E 16,800 14,400 2,400
< 5,040
e 11,760
301 LEEAS 16,800 14,400 2,400
< 5,040
e 11,760

- 156 -




2N

HE: 04 OtE - O2E =X 53
e ALINEXNEY & UORSIHE 9 ¥ =4 (2 &HH)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
01 Al E & A 452 16,800 14,400 2,400
OALINE USSNSNAME SAK S22
G 16,800,000 16,800
& 5,040
= 11,760
AL0E UI23IE XNJAE SAX HLIHAH] 8,400 7,200 1,200
= 8,400
301 Bt A= 8,400 7,200 1,200
== 8,400
01 Al E & A 462 8,400 7,200 1,200
OALINE U2NENAME AKX MM
A 8,400,000 8,400
& 8,400
ool=sS A& 644,096 685,793 N41,697
= 450,867
= 96,614
= 96,615
307 2Iz2t0| & 644,096 685,793 N41,697
= 450,867
o= 96,614
= 96,615
05 DIt EF 2 644,096 685,793 N41,697
Oolol=Es "l XY 644,096,000 644,096
= 450,867
& 96,614
= 96,615
OloI=20l S22 % ESH 1,000 0 1,000
& 300
= 700
307 gizto| A 1,000 0 1,000
& 300
= 700
11T A EXAIEEX 1,000 0 1,000
ool &9 Nd 1,000,000 1,000
= 300
= 700
AS0|2 X 820 WK (XZ4Hl) 4,200 10,000 A5,800
o= 2,100
= 2,100
307 QI2t0| ™ 4,200 10,000 A5,800
= 2,100
= 2,100
11 A EXAIEE X 4,200 10,000 N5,800
OZE0|X st20wE XA (EHl)
4,200,000 4,200
o 2,100

- 157 -




=S
80t - 023 =X 5
28X & CO2sotde A P )
% S 4 14
S =0 (3H) - NEA N= %Eﬁ HR=2
o 2,100
S0|0 X A&AS X 15,500 ,009 A4 ,509
J| 7,750
== 1,162
= 6,588
307 2Iz2t0| A 15,500 ,009 A4 ,509
J| 7,750
o 1,162
= 6,588
11T AISIEXAIEEX 15,500 ,009 AN 4,509
OZ&E0|2 X =2t X 15,500,000 15,500
J| 7,750
= 1,162
= 6,588
E0|10X FYWE A& 7,300 ,300 0
& 3,650
= 3,650
307 giztol A 7,300 ,300 0
& 3,650
= 3,650
11T AISIEXAIEEX 7,300 ,300 0
OZE0|12A FHEun=s XA 7,300,000 7,300
o 3,650
= 3,650
Ct2sItEXE a5 33,200 ,200 0
307 212t0| & 33,200 ,200 0
11 A EXAIEE X 33,200 ,200 0
OUSSIIEXEH LY &5 &
33,200,000 33,200
2ot ME 2SXE 3,600 ,600 0
= 1,080
= 2,520
307 QI2t0| ™ 3,600 ,600 0
= 1,080
= 2,520
11T A EXAIEEX 3,600 ,600 0
ouestve 2= X 3,600,000 3,600
o=t 1,080
= 2,520
Z3IE S0l 2 243 2,250 ,250 0
= 675
= 1,575
307 2Iz2t0| & 2,250 ,250 0
= 675
= 1,575

- 168 -




AN =SS0
Ha: ofd - OtE - 028 =X 53
S ALIEXNE & U2 EY HFIIE =4 (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
11T M SRASE EX 2,250 2,250 0
OUIsItE sotel2ey 243t 2,250,000 2,250
= 675
[ia 1,575
Ct23sttE MEEH=E 23 1,500 2,824 AN 1,324
< 750
[ia 750
307 21201 A 1,500 2,824 AN1,324
< 750
e 750
11T MISXASEX 1,500 2,824 A1,324
OU=2sIE MEZHZE 29 1,500,000 1,500
< 750
s 750
doEstsgsila 28 289,242 0 289,242
401 AIEHIZL 2CHEI 289,242 0 289,242
01 A& Hl 284,242 0 284,242
OLAliZaEg=Na A 284,242,000 284,242
03 A& S THHI 5,000 0 5,000
OLctizssg=sAa 28 5,000,000 5,000
Ch23ts EaXES 19,000 19,000 0
301 LPENF 19,000 19,000 0
01 MEIBEE 263 19,000 19,000 0
Ooh=zsits XA =S 19,000, 000 19,000
Ct2s0ts Sd3tag 167,539 206,026 A 38,487
Jl| 83,770
< 12,566
s 71,203
307 gl2tol & 167,539 206,026 A 38,487
J| 83,770
< 12,566
[ia 71,203
11 AL S XALEE = 167,539 206,026 A 38,487
OUESIIIEELFFAG (ZE Mdl, SHA AN
Ef=g 167,539,000 167,539
J| 83,770
< 12,566
e 71,203
=5 M T2 ™ 10,000 10,000 0
< 3,000
s 7,000
307 gl2tol & 10,000 10,000 0
< 3,000
s 7,000

- 159 -




2N =SS
Hu: o4 OE - O23 =X 53
S ALIEXNE & U2 EY HFIIE =4 (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
11T M SRASE EX 10,000 10,000 0
ogdi=st Jt5 T2 10,000, 000 10,000
= 3,000
[ia 7,000
Ch2stts fHES X 1,260 1,800 A 540
< 630
[ia 630
307 21201 A 1,260 1,800 A 540
< 630
e 630
11T MISXASEX 1,260 1,800 A 540
OU=ZstIt=ExH &2srsX A& 1,260,000 1,260
< 630
s 630
=9 MEHZX 2¢ 10,000 10,000 0
< 10,000
307 21201 A 10,000 10,000 0
= 10,000
11 ALS S XAEE = 10,000 10,000 0
Os9 AEH=E 29 10,000, 000 10,000
< 10,000
LHel=20el0l #0icte 2atAsE20Y 22,500 22,500 0
= 6,750
i 15,750
307 glz2tol & 22,500 22,500 0
= 6,750
s 15,750
11T M SXAISE EX 22,500 22,500 0
Oue=el0l #ololes 2atas =2 IHNA
22,500,000 22,500
< 6,750
i 15,750
N0 QAN E A8 20 d Ol WS 10,000 10,000 0
= 3,000
s 7,000
307 glz2tol & 10,000 10,000 0
< 3,000
s 7,000
11T M SRAISEEX 10,000 10,000 0
OXSE=x8l A E I8 25024 0laiu
= 10,000, 000 10,000
= 3,000
fia 7,000
ZA=EXNEA & =025 23,590,437 20,674,103 2,916,334
= 12,989,630
< 2,444,438

- 160 -




2N HE=S
Hu: JOHQUSNEE L 5085
Gl ZHoIEXAE 29 X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 8, 156,369
HOU=XAE 29 XA 13,077,406 11,674,050 1,403, 356
= 6,874,904
= 908,773
= 5,293,729
OO HFAIE 22H XA 8,386, 149 6,882,017 1,504,132
= 5,870,304
== 377,377
= 2,138,468
307 2iz2to| & 8,386,149 6,882,017 1,504,132
= 5,870,304
& 377,377
= 2,138,468
10 MM SXAANEEHESIGHEX 8,386, 149 6,882,017 1,504,132
OHMAAHAF=ANLE &9 X 8,386, 149,000 8,386,149
= 5,870,304
=} 377,377
= 2,138,468
HOHUHFALE 2N (MEXNEL Do =4) 1,418,680 1,418,680 0
= 993,076
& 63,841
o 361,763
307 QI2t0| & 1,418,680 1,418,680 0
= 993,076
= 63,841
= 361,763
10 A SXNANEEESIHEX 1,418,680 1,418,680 0
OHMAUAAHAFTAE MEXNEH DfdE S
1,418,680, 000 1,418,680
= 993,076
= 63,841
= 361,763
O HFTAILE Z2I/HAD| dE XK 5,040 1,800 3,240
= 3,024
& 302
o 1,714
307 QI2t0| & 5,040 1,800 3,240
= 3,024
& 302
= 1,714
10 A SAANEEHESIGHEX 5,040 1,800 3,240
OXMHUAAHAF=AIE Z2I/EED dE X
5,040,000 5,040
= 3,024
=} 302
= 1,714
ZOHQIEXAIY AAX XRMUE) 129,307 136,697 AT7,390
& 38,792

- 161 -




s
HHUZXNEE UL =05
O =EXAE 29 XA (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o 90,515
307 glz2tol & 129,307 136,697 AT,390
< 38,792
s 90,515
10 ALSISXAIEEE 22X 129,307 136,697 AT,390
OFMMA=SXAIE AT XNE(45)
129,307,000 129,307
< 38,792
e 90,515
ZOA=SRAE 29 XA(7 1,013,054 916,644 96,410
S 101,305
s 911,749
301 LEMZ 560,000 506,644 53,356
< 56,000
s 504,000
01 MEI2EZE 46z 560,000 506,644 53,356
OBAT S4224 MEEASE
560,000, 000 560,000
< 56,000
s 504,000
307 glz2+ol & 453,054 410,000 43,054
= 45,305
s 407,749
10 M3 SXNANEHE2ZH 453,054 410,000 43,054
O&EMeI=XAd 2 ) 453,054,000 453,054
= 45,305
[ia 407,749
ZOHCel HAFAIE SAR A 229 A& 17,334 14,694 2,640
= 8,667
[ 8,667
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< 1,320
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OFler=x2 249 1,111,561,000 1,111,561
Fojo=ERE 29 XN (=) 70,000 70,000 0
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ONEAHEZ R A 22 150,000, 000 150,000
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SAM: oHE TH Dt
M X9 HSEHA =8
ool NHSeYs 29 (B9 ®R)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
02 3524l 6,000 0 6,000
OAl& &H| KX Hl| 6,000
—HHI2S0 AEZH R 64
6,000,000 6,000
308 AHXI S SO0l & 38,140 34,207 3,933
0BZE8XNIAZIAEX 38,140 34,207 3,933
O fHzZzs89 ss2=2 7,200,000 7,200
O RoddIAIAE X d| 7,200,000 7,200
O fH=Zs90 48234l 2,880,000 2,880
O ozt 237 6,000,000 6,000
O UASUHES &SI 6420 960,000 960
Oulblz2 33 0tA23 2,0004 4,000,000 4,000
Ol 288 =25H 1004 1,000,000 1,000
O olgl=z=d& &8 Wa 2004 1,000,000 1,000
O 4oz JIisns ¢ &
5,000,000 5,000
O W7 40obl=2 s 2,900,000 2,900
401 AIEHIL 20| 60,000 22,000 38,000
01 Al& bl 60,000 22,000 38,000
Oy ZES S8 (U2 212
60,000,000 60,000
403 MtXISH XS K201 20,524 33,566 A 13,042
0B ublZsdXdXNES2Ex 20,524 33,566 AN 13,042
OXNGLAHM X 14,324
— 2ER9] 1,740,000 1,740
— 3% OF& &/ 1) 1,700,000 1,700
— 0l SAE BE2=S 1,440,000 1,440
—8x 2t A 354,000 354
— A2l 22Y 450,000 450
—H&E EZS(584) 840,000 840
— CCTV E4=/&Hl 3,000,000 3,000
— S SPCL A 3,900,000 3,900
—SXA 358 UHEA 600,000 600
—SHHUZ2EH HAas TV 300,000 300
O uszd X S0t 6,200
—0lglz2=d 23 1,500,000 1,500
—EHEY ANEE B 2,500,000 2,500
—HI&ESA M2 1,000,000 1,000
-0 OFEE LES 700,000 700
— Matorg &J1 &l 500,000 500
A S22 22| 400,564 466,232 AN 65,668
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SH: SE LD
dH: NS HSHA 28
Sel NHSHYS 2 (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
301 €EtE2 N = 400,564 466,232 /65,668
B AR =R2QEES 400,564 466,232 65,668
OMI=22E 20 197,154,000 197,154
OA2=223 wSH 64,800,000 64,800
OAZ =23 SAHI 115,200,000 115,200
OAN=223 2d4 0l 12,270,000 12,270
OA2I=82¥ I=H 8,940,000 8,940
ORF NI=LREA HF 200,000 200
Ojdtz=2ds 2,000,000 2,000
AR HY 1,200 9,000 A7,800
T2EEAY 1,200 9,000 AT7,800
201 £et23E | 1,200 0 1,200
01 At 2t 2l bl 1,200 0 1,200
o=2g=+¢g 1,200
—TAFE ASFE UAEEI
1,200,000 1,200
HaoHoller stexd 1,139,986 1,387,572 AN247,586
T 180,314
= 959,672
ot 22| 936,186 110,012 826,174
S 180,314
= 755,872
ot& =Xl 2 el 53,800 110,012 A56,212
201 Yet2 | 32,200 38,400 16,200
01 At 22l bl 5,000 8,000 A 3,000
ogxz 5,000
—otd&cE FHIS R 5,000,000 5,000
02 s3=9Hl 27,200 30,400 23,200
OAlZ& &S XIHl 20,000
— ot 22/ AIAE 20,000,000 20,000
O3Z2x2= % MA
ot & Al€ 600,000 1201 & 7,200
203 R =& 1,600 2,000 A 400
03 Al FXH =AY 1,600 2,000 A 400
Odctdatel gf=a 1,600,000 1,600
401 AIEBI L 2CHEI 20,000 50,000 A 30,000
01 Al €I 20,000 50,000 A 30,000
Ovotd 2tel oA 20,000,000 20,000
ZEHGHE Ho2AE 2S(<Hl) 14,450 0 14,450
= 14,450
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S OFE T LD
g Mooy ot xd
chel: ot el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 14,450 0 14,450
< 14,450
12243 14,450 0 14,450
OzgZotd AR 294 14,450,000 14,450
< 14,450
HIX el (st A=2X2O0l) 331,728 0 331,728
= 165,864
i 165,864
101 @124 dl 275,328 0 275,328
< 137,664
e 137,664
4 D12t ZE2XREES 275,328 0 275,328
Oot&E A= XZ0l JIZH2I 22X E=
275,328,000 275,328
< 137,664
e 137,664
201 L2l 56,400 0 56,400
= 28,200
e 28,200
01 At 2t 2l 38,400 0 38,400
Ost&EA=X 20l &s(MHEFL) 38,400,000 38,400
< 19,200
[ia 19,200
02 =224l 18,000 0 18,000
Ox&E s Il 18,000, 000 18,000
< 9,000
[ia 9,000
ESTH =S 2AL (XHA) 536,208 0 536,208
401 Al HIZ 2018 536,208 0 536,208
01 A& HI 536,208 0 536,208
OSSO N&E =HERAS
536,208,000 536,208
& otd =4 203,800 1,277,560 A 1,073,760
2ot E I 103,800 1,202,560 A 1,098,760
201 £B-2dH| 800 560 240
01 At 22l 800 560 240
AGtE 2RSS 100,000 49X x23| 800
401 Al HIZ 201 8] 103,000 302,000 A 199,000
01 A& HI 100,000 300,000 A 200,000
OAdtE = Al 22 100,000,000 100,000
03 Al 2 0HHI 3,000 2,000 1,000
OAdtE S A 22 3,000,000 3,000
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2N

X{ XH -
S =

oF & TH

ful)

i off il 2

0

ol
p:d
P
0x

@ UHE ot =4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHEotE g2l (HEAY) 100,000 75,000 25,000
201 £B-2d| 50,000 45,000 5,000
02 =224l 50,000 45,000 5,000
OA& &SRl 50,000
— 33 EGE AlEs2el 50,000, 000 50,000
401 AIEHI L 2] 50,000 30,000 20,000
01 A& tl 50,000 30,000 20,000
S¥E ot |A2el 50,000, 000 50,000
FolEo X9 1,160,701 442,000 718,701
22 KNSR 1,160,701 442,000 718,701
th==2 HUIZA 103,000 201,000 98,000
401 AIEHIZL 20 103,000 201,000 298,000
01 A& Hl 100,000 200,000 100,000
Ot==2 ZHl 100,000, 000 100,000
03 A& S THHI 3,000 1,000 2,000
Obi+=2 & Hl 3,000,000 3,000
N & ZHlI S A 103,000 241,000 A 138,000
401 AIEHI L 2CHYI 103,000 241,000 A 138,000
01 A& HI 100,000 240,000 A140,000
OHMIE ZHl 100,000,000 100,000
03 Al 2 THHI 3,000 1,000 2,000
OM&ZHI 3,000,000 3,000
H=5220o +=ai=S2A (XHE) 954,701 0 954,701
401 Al HIZ 2018 954,701 0 954,701
01 A& HI 954,701 0 954,701
HESROol AGtA SoiSPALY (X))
541,347,000 541,347
OZESRIdl ME oS TAI (XHH)
413,354,000 413,354
ot st =& 2ot H&F 239,760 111,770 127,990
< 59,375
i 180,385
o4 2 sadMd oA 2e] 239,760 111,770 127,990
< 59,375
s 180,385
=add EZTAIRE XN 118,750 0 118,750
< 59,375
s 59,375
101 @14 Hl 109,750 0 109,750
< 54,875
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AN ATt
HE: SUBHAYS
o2l MElHESAHIIASSU (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 25,500
s 25,500
201 24l 8,000 7,840 160
< 4,000
s 4,000
01 At 2t 2l 8,000 7,840 160
OQIZAteta Ab=2te| 8,000,000 8,000
= 4,000
s 4,000
301 LEEAF 43,000 18,000 25,000
< 21,500
= 21,500
12JIE243 43,000 18,000 25,000
OQlBotetE AtZ= 22| 43,000,000 43,000
< 21,500
s 21,500
ol AtehE MAX ALE(EX) 80,000 0 80,000
2 64,000
s 16,000
207 & O & H] 20,000 0 20,000
2 16,000
s 4,000
01 2284 20,000 0 20,000
OQI34tetd HAX &1 T A 20,000, 000 20,000
= 16,000
[ia 4,000
401 A& HIZ 201 8] 60,000 0 60,000
2 48,000
i 12,000
01 A& HI 60,000 0 60,000
OolZstetd &X 60,000, 000 60,000
= 48,000
s 12,000
HAIE 2E HAMSE(EX) 80,000 28,000 52,000
< 24,000
s 56,000
201 £B-2dH| 6,000 4,000 2,000
< 1,800
s 4,200
01 At 22l 6,000 4,000 2,000
OFAIH &8 Heol HE 837
6,000,000 6,000
< 1,800
s 4,200
301 LA F 74,000 24,000 50,000
< 22,200
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SAM: oHE TH Dt
BH: 2aAMRYS
CHol: MENNEES0ItAS ST S E )
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
= 51,800
12 JIEtE &2 74,000 24,000 50,000
OYAlH 012t BEA =2 S 74,000,000 74,000
< 22,200
= 51,800
A3 OFA Q2 = 1,123,135 1,335,201 A 212,066
= 19,800
= 1,103,335
CCTV E8t 7% 197,000 531,000 A 334,000
& 19,800
= 177,200
SBHHAIAE RH 131,000 531,000 A 400,000
401 Al HI L £ 0HHI 131,000 531,000 A 400,000
01 A& HI 130,000 530,000 A 400,000
OXSEFHSOIA CCTV WM A 100,000, 000 100,000
og™EZccTV ol & 30,000,000 30,000
03 Al& 201l 1,000 1,000 0
OYHEHEZCCTV 2SS AL AIE 20| 1,000,000 1,000
SHAAY RH(2XE) 66,000 0 66,000
= 19,800
= 46,200
401 AIEHIL 201 66,000 0 66,000
& 19,800
= 46,200
01 A& bl 66,000 0 66,000
OE&z CCTV &X&U A 66,000,000 66,000
& 19,800
= 46,200
CCTV SE2HMAEH 29 926,135 804,201 121,934
CCTV S 2 HHE 2322 926,135 804,201 121,934
201 LEt2 Y| 924,535 802,201 122,334
01 AP 22l Yl 20,400 26,280 AN5,880
ORANEL+HYI)|=HIIAJ
200,000& x10Y *13] 2,000
Odet2H| 18,400
— LY BIIFHI| 2Ael(50)
200,000*12& 2,400
— ABIAIREE & SE2NEdEH |22
2,500,000%43] 10,000
—CCTVEE2NE =223 6,000,000 6,000
02 35249t 904,135 775,921 128,214
Oog™EcCTVE S 2 408,600,000 408,600
OgHZCCTVEI 22 10,000%390 0 A~ x12& 46,800
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M CHMTH It
B NSOHYRE
Chel: CCTV SE2NMAH 29 (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OA& &l Xl 60,672
— N SHYCCTVS XIE (291 4) 60,672,000 60,672
OA4& &l =Xl 208,068
— 2HECCTVS Al & 2= (28500 &) 208,068, 000 208,068
OA&EHl Xl 72,287
—SE2MHEH S/WEXE=> 72,287,000 72,287
OA& EHI®Xdl 107,708
—SE2MLAEH HW SXE= 107,708,000 107,708
203 YR =2 1,600 2,000 A 400
03 AIMZFA AR ZAY| 1,600 2,000 A 400
OCCTV S g2 HdH 298 RF2AH
1,600,000 1,600
HY2HEZH(QHETH D) 60,820 61,880 21,060
Jl2Z (&) 60,820 61,880 A 1,060
JIE23l 60,820 61,880 A 1,060
201 L2l 39,420 28,000 11,420
01 At 22l 38,920 27,500 11,420
O e8| 28,920
—SANEX 7Y 25,000%60 A x43] 6,000
~MNREE 2 ADE Y (RNEUEE T
&) 6,000,000 6,000
—D2IH,2AD BA B (et EE) 72
300,000%5CH =103l 15,000
—E=01(de=0) & 3JEFI 22l
40,000%4CH«12& 1,920
O= &l 10,000
— A2t 2 2 X E204lt] 10,000, 000 10,000
02 8322l 500 500 0
OsH gl 500,000 500
202 o4dl 15,600 28,080 A 12,480
01 = LH o4 1l 15,600 28,080 212,480
OJl2g =380l 50,000%26H x12& 15,600
203 YR =&t 4,800 4,800 0
04 BENSS LR =L 4,800 4,800 0
ORNSYE2FAHI(26Y) 4,800,000 4,800
405 RHoHE S HI 1,000 1,000 0
01 XML 2 EF S| 1,000 1,000 0
OAEE I3 ¢ 1,000,000 1,000
HRES(HMTH D) 1,000,000 531,000 469,000
HEHHK = 1,000,000 531,000 469,000
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SIS DY Ry

P HRES(SET D)

CUHEHAXE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
LHEAHH K= 1,000,000 531,000 469,000
702 D128 =2 1,000,000 531,000 469,000
[PIERSE = 1,000,000 531,000 469,000
Ot 1,000,000, 000 1,000,000
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2M: 83
dM: GAHEE 25
el ReEY 25 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SolotMES2 OloHoll 2 AF (XERI) 3,000 3,500 A 500
206 M=l 3,000 3,500 A 500
01 =8l 3,000 3,500 A 500
Owdiotd=EsE JI0H 2 30,000& 1004 3,000
ME - F2AEMRE 2el 228,800 178,020 50,780
< 228,800
101 @124 dl 150,100 141,202 8,898
= 150,100
04 JI2ZHHZ2XREES 150,100 141,202 8,898
O=dl&lt 29 57,019
— o2 74,9603 «3H x28 «8E 50,374
< 50,374
—-S8= 50,374,000 x12% 6,045
< 6,045
— I =l 200,000& »3H 600
< 600
OMHEZANZL 29 49,967
— o2 74,9603 «3H 28«7 44,077
< 44,077
—S8= 44,077 ,000& x12% 5,290
< 5,290
— I =l 200,000& »3H 600
< 600
OXgersd M= 29 43,114
— o2 74,9603 «4H x 18«7 37,780
< 37,780
—E8= 37,780,000 x12% 4,534
=3 4,534
— I =l 200,000& »4H 800
< 800
201 Let24d] 53,700 36,818 16,882
< 53,700
01 At 22l 25,360 15,760 9,600
O+t 25,360
-—2488 7Y 1,000,000& »12& 12,000
= 12,000
— RoFHAIAE 29 220,000& 128 2,640
= 2,640
—30 gHILZ2 IdX 22 10,000, 000& 10,000
= 10,000
— &80 Xz 60,0003 1CH*12& 720
< 720
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 19,032 0 19,032
OAZAIEE S 12,032,000 12,032
= 8,422
= 2,527
[ia 1,083
OMNEH2(ZEH) 7,000,000 7,000
= 4,900
= 1,470
e 630
AL 103,600 126,559 A 22,959
201 £B-2dH| 3,600 68,500 A 64,900
01 At 22/l 3,600 68,500 A 64,900
OOLFALE E X & M 600,000 *6H 2 3,600
401 Al B2 28I 100,000 15,000 85,000
01 A& HI 100,000 15,000 85,000
OLA2 LHALEH ==off S+ &I AFZ AL
100,000, 000& 100,000
APl THOH 2 Kbel SOl (AFAREN S 20l 2 ) 54,386 53,652 734
= 21,754
< 22,840
e 9,792
101 @144 dl 54,386 53,652 734
= 21,754
= 22,840
s 9,792
04 JIZHHZ22XREES 54,386 53,652 734
OA&FAIEH S Z ol 2 54,386,000 54,386
= 21,754
< 22,840
s 9,792
&g o= 9,000 6,700 2,300
201 Let2d] 6,000 3,700 2,300
01 At 22l 6,000 3,700 2,300
OMAEIH AR AT RS &HELg
100,000 5% »23| 1,000
OMolH e & S=2=+ FH =
5,000,000& 5,000
206 M= Hl 3,000 3,000 0
01 MHZ 8l 3,000 3,000 0
Odttgd Mot SS=+ A2
3,000,000& 3,000
g == M2 X4 100,000 0 100,000
< 50,000
i 50,000
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401 AlEHIZL 2 0HY| 100,000 0 100,000
== 50,000
= 50,000
01 Al&H| 100,000 0 100,000
O =5 Mz X4 100,000,000 100,000
= 50,000
= 50,000
ANHsEtd B 1,870,021 1,073,053 796,968
= 1,500,000
= 370,021
222 1,870,021 1,073,053 796,968
& 1,500,000
= 370,021
HAM ZEHEE SFA22 105,521 113,053 N7 ,532
101 Q124 H] 77,321 75,573 1,748
04 JI2ZtHIZ22NEE S 77,321 75,573 1,748
Ozgz2aae o8 77,321
— oAy 74,9603 x4H 168 50,374
-5 8¢ 74,960 42X x522! 15,592
—4Eg = 65,964,800 *16% 10,555
— I =S| 200,000 x4 800
201 et Y| 8,200 7,480 720
01 AP 22| d| 6,400 5,680 720
OFA & 221828 S 7 4,000,000 4,000
OYXNMZYBALAAE 284+Y
100,000& »8YH *33| 2,400
02 2% 4| 1,800 1,800 0
OZ2222 ¥ HMA 150,000& ~12& 1,800
401 AlEHIZL £ 0HY| 20,000 30,000 A 10,000
01 Al&EH| 20,000 30,000 A 10,000
OgXaZE 2 S E A2
20,000,000 20,000
HAMNZE 2R dl=F2E02 EXAY 1,764,500 960,000 804,500
o=t 1,500,000
= 264,500
401 AlEHI 2L £ 0HY| 1,764,500 960,000 804,500
& 1,500,000
= 264,500
01 Al&H| 1,676,275 895,000 781,275
OEINMZEZER ot RELUL EXAY
1,676,275,000 1,676,275
& 1,425,000
= 251,275
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 Zeltl 88,225 65,000 23,225
Ogiuzgsd ot=s S0 EXAY Zel
88,225,000 88,225
< 75,000
e 13,225
HY2FZH (A D) 42,632 48,560 A5,028
Jl2dd (&) 42,632 48,560 25,928
|2 H| 42,632 48,560 5,928
201 Let24dH] 30,272 26,680 3,592
01 At 22/l 27,680 26,680 1,000
OgBt==&H| 21,680
—ANREEF & 7Y 10,000, 000& 10,000
—ZEH, =M, EH & #& 10,000,000 10,000
—&8=20,3718F)| el 140,000& 128 1,680
O= &l 6,000,000 6,000
02 =224l 2,592 0 2,592
OgYRE FUHERS 36,000 60 122 2,592
202 044l 8,160 17,280 N9,120
01 = LH &4 1l 8,160 17,280 29,120
OgR=& 0l 40,0003 x 172 «12& 8,160
203 YR =] 4,200 3,600 600
04 FENSEHE=LH 4,200 3,600 600
OFRN2IYS =2 350,000& »12& 4,200
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2AM: SAD
S S AN
el SAIE 2 CEEEED
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S Al 12,689,438 22,325,625 A 9,636,187
S AR 10,160,662 19,760,520 A 9,599,858
S AHEE 1,516,662 859,270 657,392
SANHE 2E N 153,770 124,570 29,200
201 L2l 121,770 114,570 7,200
01 At 22l 55,320 48,120 7,200
Ogt=&H| 15,000
—dE310Z 15,000, 000 15,000
o=zg=¢ 40,320
—- 2SS S AAs BHEY
100,000 » 12% * 243 28,800
—ZHERAS S A} HA==E
80,000 » 12% * 123/ 11,520
02 =24l 66,450 66,450 0
O332= % HAl 450
—EXOoISHEEAY JL2HAS ML (EE
2) 450,000 450
OAIE ZHI S X 66,000
— S AHE M LSH(KLIS DB) RXIE
22,000,000 22,000
—2E0SHEEHMA(PIS B) RXE=
22,000,000 22,000
—=E0SFHEMA(PIS) FANEx
22,000,000 22,000
203 YR =] 10,000 10,000 0
03 Al =AY R 10,000 10,000 0
OZAMEHRFA 5,000,000 5,000
OEAMAHLRFT 5,000,000 5,000
401 Al Bl 28I 22,000 0 22,000
01 A& HI 22,000 0 22,000
OFJl OIHeg =2 HUIAY 22,000,000 22,000
SHIEE MM 12,892 12,700 192
101 @124l 12,892 12,700 192
04 JIZHHNZ2XNSE =+ 12,892 12,700 192
OSZIEE LHEZA(2108)
olAHl ¥ EE = 69,760 x6%H «28 x110% 12,892
= 2el A& 1,350,000 722,000 628,000
401 AIEHI L 2 CHYI 1,350,000 722,000 628,000
01 A& HI 1,340,000 722,000 618,000
O2021d =22l s ZFdlsd 1,340,000, 000 1,340,000
03 AlE 2 THHI 10,000 0 10,000

290 -
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Sl SAINE S
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S E B (3H) - MBAY - BES O Ak o8 ﬁ}lgﬁ HD=2
| | 02021 22| HE My gdY 10,000,000 10,000
SADIEAIE B2 300,000 900,000 A600,000
SAIHEAS EXEA 300,000 300,000 0
401 AlEH 2 20| 300,000 300,000 0
01 Al Hl 300,000 300,000 0
OZAHEANE EXNSA 300,000,000 300,000
T AN 50,000 0 50,000
ZU AR Rz 50,000 0 50,000
401 AlEH 220 50,000 0 50,000
01 Al&H 50,000 0 50,000
O TAZS Sx2el 50,000,000 50,000
SAHEEZZ WA 4,387,000 13,084,000 A8,697,000
IE - 20 CAHEZ2 HA 286,000 1,363,000 A1,077,000
201 2L pr2 | 10,000 5,000 5,000
02 2z 2| 10,000 5,000 5,000
ozZ=2ez2 2 MA 10,000
—2HEANE ZZR2 10,000,000 10,000
401 AlEH 2 20| 276,000 1,358,000 A1,082,000
01 Al&H 270,000 1,355,000 A1,085,000
OA23-138 M (stLI20LE~AtQIE 2})
270,000,000 270,000
03 Al 20 6,000 3,000 3,000
ONBEM CAHECTR WA 6,000,000 6,000
Hdot . HI CAHECR WA 1,963,000 1,970,000 A7,000
401 AlEHI 22 01Y| 1,963,000 1,970,000 A7,000
01 A& 1,960,000 1,967,000 A7,000
OAZ32USH (HLHHA-ESH LG H) WA
300,000,000 300,000
OAZ2-@28 M (=0 Z22~HEDS) Ha
360,000,000 360,000
OAR10SH(BLHONHAL-~-2 TS M) WL
800,000,000 800,000
OAR3-1EH(HEI20S2-MLEZ2) M
= 500,000,000 500,000
03 Al 2 HH 3,000 3,000 0
HorHE CAHECTZ A 3,000,000 3,000
CAHEE2 ARD HAAY 30,000 50,000 A20,000
1 A& H 22yl 30,000 50,000 A20,000
01 Al&HI 30,000 50,000 A20,000
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Oz ZTAHEEZZ AR HAAY
30,000, 000 30,000
=9 SHUZ0LE & WXZ NS A 300,000 0 300,000
401 Al& I 28I 300,000 0 300,000
01 A& tI 300,000 0 300,000
O=9 oILIZ0E & X2 HAZA
300,000, 000 300,000
HATAHEETZ AZ22-195 8 HESA 500,000 0 500,000
401 AIEHIZ 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OEATANAHECTZ AZ22-195 6 (ZAWEA
d) & 500,000, 000 500,000
NEEANHEEZ A22-815 6 WA S AL 550,000 0 550,000
401 Al B2 28I 550,000 0 550,000
01 A& HI 550,000 0 550,000
ONBZANAHECZZ AZ22-815& (0 HOHTIIE~
HMgez) e 550,000, 000 550,000
SCITSAIHEEZ HEZ3-1sd HE S A 500,000 0 500,000
401 Al B2 2B 500,000 0 500,000
01 A& HI 500,000 0 500,000
OSelTAAHEEZ HE3-156 (3 E D XZ~0F
Hael) e 500,000, 000 500,000
NEEANHEEZ A23-405 6 WL B A 258,000 0 258,000
401 Al HI & 28I 258,000 0 258,000
01 A& HI 258,000 0 258,000
ONEEZANAHEETZE 2234056 (SLH8el HE
) JH& 258,000, 000 258,000
FAHEZ NS 297,000 417,250 A 120,250
SANZ2AE $ 2SR 2 297,000 417,250 A 120,250
101 @124l 42,000 0 42,000
04 JIZtHZ2Z2XNSE+ 42,000 0 42,000
O8Ot e] =4 A 42,000,000 42,000
201 LB-2d| 130,000 149,000 A 19,000
01 At 2t 2l 108,000 138,000 230,000
Oger==gHl 8,000
—SgH&Z02 JH2HA 25 +2 1,000,000 1,000
—DEFZFNE AHEFZ =8 5,000, 000 5,000
— &%3, CXoAoIL & 292272
2,000,000 2,000
Ok=2¥ 4AXN=S & &5&49 70,000,000 70,000

- 292 -




2N

X ZH
S =

el

S A
DS AR
=AHAE3NA

= - — SHE|
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Os8Z0Rxs MAH S EHISY
20,000, 000 20,000
ogxs 10,000
—FEUT U BHFDS HBUIY &
HYXE 10,000, 00 10,000
02 =224l 22,000 11,000 11,000
OZ22223 ¥ HAl 22,000
—SAZaR 523 (S3CR2AHe 2
=0, thdel 48x8E 5) 13,000, 000 13,000
— AT AETHRE B3R 7,000,000 7,000
—HSAANAMRY BZRS 2,000,000 2,000
206 M= Hl 10,000 30,000 220,000
01 =8l 10,000 30,000 220,000
O8Ot e]l =4 A 10,000, 000 10,000
401 Al B2 28I 115,000 238,250 A 123,250
01 A& HI 115,000 234,250 A 119,250
O8=UXHANAD OI&EEX
5,000,000 * 6H £ 30,000
O&8=a XNFAHNAL S EH ¥ B+
15,000, 000 15,000
Odalzx= 2 YT AE &X 100,000 » 20094 20,000
OZZXHANEE & B3x8= 2l
50,000, 000 50,000
M X2 HE 3,600,000 4,500,000 900,000
NEAAMA JIEAIE =4 3,600,000 2,300,000 1,300,000
401 Al Bl 28I 3,600,000 2,300,000 1,300,000
01 A& HI 3,600,000 2,300,000 1,300,000
ONEANA JIBtAlE =4 3,600,000,000& 3,600,000
=22 H & 10,000 0 10,000
e HE (N2SHAAE) I 10,000 0 10,000
401 Al B2 28I 10,000 0 10,000
03 A& =2 I 10,000 0 10,000
ODMA N2 HEH| 10,000, 000 10,000
HE2ABHI (S AD) 58,337 63, 105 A4,768
Jl2ddl (= A2 58,337 63, 105 A4,768
JlE2zl 58,337 63, 105 AN4,768
201 et 48,265 43,385 4,880
01 At 22l 45,265 40,385 4,880
Ogt=&H| 36,265
—SAMNSXF(A4) 25,300% 104t Xt+ 128 3,036
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— SASX 7Y (A3) 35,000%24f Xt + 122 840
— UUAREZ Y 2,000,000 2,000
—dHSEPY(28) 100,000 * 49+ A 400
—HYESEFY(43) 60,0003 » 3% A 180
—2NEELR 60,0002 » 18 A 1,080
—NEBEEX 20,000 * 12=% 240
—SAIEH 220,000 = 2CH * 53] 2,200
—SAMIEH 715,000 = 2CH = 13l 1,430
— ZEHEUTY 338,000 = 7CH * 13l 2,366
—ZEHEURY(ZHZEH)
398,000 * 20H = 44 « 23| 6,368
—HDelHEd Y (ZA=eH)
490,600 * 2CH = 44 « 13| 3,925
— ot 2 oHeld 2 3,000,000 3,000
—-SA(ggd) 2y 1,000,000 1,000
— ZTEH & AMRI1J1 =altl 5,000,000 5,000
— &) HEZR 700,000 = 10CH 700
— QRS AHINA dE=Z
300,000 = 1CH 300
—3JIEE) dg= 600,000 » 2CH 1,200
— A} UL & = 1,000,000 1,000
O= &l 9,000
— A2t 2 2 X E20H4lt] 9,000, 000 9,000
02 =24l 3,000 3,000 0
O22R23 3,000
—SREE g8 3,000,000 3,000
202 044l 5,472 15,120 A9,648
01 = LH 4 bl 5,472 15,120 29,648
oJley S 04 bl
120,000 * 19% = 128 = 20% 5,472
203 R A 3,600 3,600 0
04 2A2Y =&yl 3,600 3,600 0
ORM2 =&l 300,000 = 122 3,600
405 XHoHESH 1,000 1,000 0
01 AR ESFH S 1,000 1,000 0
O Xtk 1,000
—ARE Jt7 7Y 1,000,000 1,000
HWeEs 2,470,439 2,502,000 A 31,561
LHEHAHXE(Z A 2,470,439 2,502,000 A 31,561
HEHH X = 2,470,439 2,502,000 A 31,561
311 X+ S 01 Xk &k & 49,439 59,000 A 9,561
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49,439,000 49,439
601 XtL S =4 625,000 625,000 0
04 XLHESH=a e 625,000 625,000 0
OFMBINBAIEZLEAS XN LIS A E
625,000, 000 625,000
702 )1 2EEZ 20,000 0 20,000
(O RIE=RSE= 20,000 0 20,000
O=AZ0FHIII3 853 20,000, 000 20,000
705 =32 cl 34 1,776,000 1,818,000 A 42,000
o133 4E 1,680,000 1,680,000 0
AN JIBAIE ZHAS SE22012 S84
2= aE 1,680,000, 000 1,680,000
02 Ofl =3 Ol A+& & 96,000 138,000 A 42,000
ODMA JIEtAIE ZEAMY SE2eldls it
Ol X+ &t & 96,000, 000 96,000
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ws 12,275,615 10,835, 162 1,440,453
= 356,150
Xl 290,000
= 778,591
s 10,850,874
nsd e 10,883,480 8,837,961 2,045,519
= 356,150
Xl 290,000
< 778,591
s 9,458,739
=8d 22l € X 8,955,630 6,514,721 2,440,909
= 6,150
Xl 290,000
< 748,591
s 7,910,889
nsSHIXA 53,000 146,000 293,000
201 et 51,000 12,000 39,000
01 At 2teltl 51,000 12,000 39,000
OEALANHAZRE EXNYXE
11,000, 000& 11,000
OLXNZ(DZLH9 HALYZAHOIS Al DXt
Z) 40,000,000 40,000
203 YR =&t 2,000 5,000 A 3,000
03 A FAH S =AY 2,000 5,000 A 3,000
OQusdzgR=a 2,000,000 2,000
NE2ETG 24EG A& EHE K& A 20,000 4,000 16,000
< 10,000
s 10,000
301 LeHBAF 20,000 4,000 16,000
< 10,000
[ia 10,000
12 JIEtE& = 20,000 4,000 16,000
ONE=2HA 2N Talety X AE
200 100,000 20,000
< 10,000
s 10,000
dAadE WaEd A& At Y 29,806 169,764 A 139,958
308 XX EHHSOIA 29,806 169,764 A 139,958
07 IXNHMAURE = 29,806 169,764 A 139,958
O&Ad wsdl XA 29,806,000 29,806
2xdH RRE2XS 2,040,000 2,040,000 0
307 glz2tol & 2,040,000 2,040,000 0
09 2HAHAEXS 2,040,000 2,040,000 0
O2+gH RREXS 2,040,000, 000 2,040,000
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308 XHXIEH SO0l & 1,242,920 1,218,488 24,432
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O+E? s#580 N NZRE3
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SXEA & XA 500,000 500,000 0
< 250,000
s 250,000
301 LEd = 500,000 500,000 0
< 250,000
s 250,000
12 JIEBHE4 = 500,000 500,000 0
OZI=EXNEA 29 500,000, 000& 500,000
< 250,000
= 250,000
BAIDIEZ N =2 X& 22,343 22,343 0
< 6,702
e 15,641
307 glz2+0l & 22,343 22,343 0
< 6,702
i 15,641
09 2+=HAHEXS 22,343 22,343 0
OHAIIEZ N =2 X& 22,343,000 22,343
< 6,702
s 15,641
HASICSHLI| SMR X 3,126 3,126 0
< 1,172
[ia 1,954
307 21201 A 3,126 3,126 0
< 1,172
s 1,954
09 2HAHAEXS 3,126 3,126 0
O=HAl tEEZD| SeE K& 3,126,000 3,126
< 1,172
e 1,954
BHOIEAl MM X2 73,200 38,400 34,800
S 73,200
307 glz2tol & 73,200 38,400 34,800
< 73,200
09 2HAHAEXS 73,200 38,400 34,800
OYQIEAl HRIME XA 37,200,000 37,200
< 37,200
OYUEAl HRIHH X& 36,000,000 36,000
< 36,000
=RSEHE Usns AMAE 29 1,800 3,600 A 1,800
201 Let249] 1,800 3,600 A 1,800
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O+=22328 UsusSAA8 22 1,800,000 1,800
Eguss 29 & 980,000 1,000,000 A20,000
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EX: BwEY
M. WwsEd A
ool HNDE 25 FE (29l 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A G2 E K& 12,200 15,080 N 2,880
307 212t01 & 12,200 15,080 N 2,880
02 DIZtZAAMEE X 12,200 15,080 N 2,880
OJIE2HE2H X3 7,200
—wWSEANAAA SLAS 7,200,000 7,200
ONgZ=sMHHHL S 5,000
Helol nSotd SAIES 5,000,000 5,000
cEZ2 g43 N 48,000 0 48,000
201 L2 A Y| 48,000 0 48,000
01 AFR2t2l bl 28,000 0 28,000
OEEEg4Mds XNd EE2 H&E S 2,000,000 2,000
Ot 2JIAAEE FHSUAE 25,000,000 25,000
OEE &2 JNEE 200,000& x5H *13] 1,000
03 At L ] 20,000 0 20,000
Otz g2nus s 20,000,000 20,000
nNEANES X ¥ KX 22 1,761,000 2,287,000 N526,000
= 350,000
& 30,000
= 1,381,000
Lo8s3d JHHALSE (Z2H]) 210,000 0 210,000
= 105,000
= 105,000
401 Al HI YL 2 0HHI 210,000 0 210,000
= 105,000
= 105,000
01 A& HI 210,000 0 210,000
OLolEs 33 A A (ZH]) 210,000,000 210,000
= 105,000
= 105,000
HelolES3Y MAAY (2H]) 490,000 0 490,000
= 245,000
= 245,000
401 AIEHI L 200 490,000 0 490,000
= 245,000
= 245,000
01 A& bl 490,000 0 490,000
ORI NEC=EH AX (24]) 490,000,000 490,000
= 245,000
= 245,000
NSANE2G XA 80,000 230,000 A 150,000
201 L2 | 80,000 230,000 A 150,000
02 35249t 80,000 230,000 A 150,000
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EA: WEI
Ha: DS M
R NEANEs X € |SX 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OQUEANEE MD| S0 22
20,000,000 = 4& 80,000
WECHMAIALE S22 301,000 953,000 A 652,000
401 AIEHIZL 201 Y| 301,000 953,000 A 652,000
01 Al&H| 300,000 951,000 A 651,000
ONEUMALE SXNES=Z2AHEDI})
250,000,000 250,000
OFT205sH 2 4004 XEA A 40,000,000 40,000
OnJAEHLE T AX| 10,000,000& 10,000
03 Al 201 Y| 1,000 2,000 A 1,000
OUEAMAIES A S X 22l
1,000,000 1,000
HESWEANLES2L 350,000 1,034,000 A 684,000
201 et 9| 150,000 130,000 20,000
02 22244 150,000 130,000 20,000
OHAZBBAAEY KX 120,000,000 120,000
OHA SHAISZE EA 30,000,000 30,000
401 Al HI L £ 0HHI 200,000 904,000 A 704,000
01 Al& b 200,000 904,000 A 704,000
OHAEBAMEA F2AMHH WA
200,000,000& 200,000
XA ANZ AFAH 2T A 100,000 50,000 50,000
& 30,000
= 70,000
401 AlEHIZL 2 0HY| 100,000 50,000 50,000
& 30,000
= 70,000
01 Al&E H| 100,000 50,000 50,000
OIS Az d3sA8ZE AXAE
100,000,000 100,000
& 30,000
= 70,000
HeloIES3S HEAY 200,000 0 200,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OeolBsad & 200,000,000 200,000
SIMWXZE X A 30,000 0 30,000
401 Al HI L £ 0HHI 30,000 0 30,000
01 Al& b 30,000 0 30,000
ONMTEAIRA & SIMIXZE &X 30,000,000 30,000
ANsSxet AE8I1HS S5 22 13,590 16,500 A2,910
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2AMd: DS
M DsEd e
&2 NSk ALIH SSEN 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEHE XA 7,590 8,000 A410
201 £B-2d| 7,590 8,000 A410
01 At 22l 7,000 8,000 A 1,000
OSEg: HMEAA 2 7,000,000& 7,000
02 2324l 590 0 590
OXNSSES R2dE HaZH 590,000 590
SEAgIE2 g2 =8 6,000 6,000 0
201 Let24dy] 6,000 6,000 0
02 2324gHl 6,000 6,000 0
OSEANZHRNANAEH S22
500,000& * 123 6,000
Jl=3l 87,220 0 87,220
JlE2&l 87,220 0 87,220
201 Let24E] 57,060 0 57,060
01 At 22l 27,060 0 27,060
Oget=&H| 19,380
— SAEX 26,4003 x504F Xt *23] 2,640
—Z2H EYH 450,000& *4CH +33 5,400
—ZEH E™ 500,000& *2CH*13] 1,000
— SAI EU 500,000 = 1CH 33 1,500
— =S AMI| =2l 1,000, 000+ 1CH 1,000
—EJ2UHAER 80,0002 »1CH+6 & 480
—3JFEIILUMER 40,0003 *4CH 6 960
— LUAIRES 500,000& »12& 6,000
—SHEEXN ¥ HEEE 2 400,000 400
O= &l 8,000& x10H x8L x12& 7,680
02 22224l 30,000 0 30,000
Ound=.lltle S 2AES RERS
2,500,000& x12& 30,000
202 oddl 25,560 0 25,560
01 = LH o4 1l 19,440 0 19,440
OJlegs =83l 90,0003 x18H 128 19,440
02 M0 6,120 0 6,120
OJIeg: =838 ANLl 170,000 «3H«12& 6,120
203 R =&t 3,600 0 3,600
04 FN2ELSZ=TH| 3,600 0 3,600
ORANSYLRFZNE (S ) 300,000& 12 3,600
405 TtabF S| 1,000 0 1,000
01 AL EFH S 1,000 0 1,000
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2N 1S
Hu: pEsd Ha
el |2 2| (SHol: @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| | | ORML S EH SH 1,000,000 1,000
Ne2es(nsi) 1,392,135 0 1,392,135
SHXNE 1,392,135 0 1,392,135
FAZELIH HES 1,392,135 0 1,392,135
701 JIEtSl HSHES 1,392,135 0 1,392,135
01 JIEtSI HEES 1,392,135 0 1,392,135

OFxE S

for

rz

E==1 1,392, 135,000 1,392,135
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2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
SO N2H2AE AR 17,600 17,600
HHEANAL(MSH)MAS o &

17,600, 000& 17,600
e =) 49,122 49,122
49,122 49,122
49,122 49,122
gr2 & | 32,762 32,762
AFE 22l | 32,762 32,762
OAtS 2t el Hl 24,698
— SAEX P (M) 25,0002 » 150 A 3,750
LENAIRES Y 2,000,000 2,000
SAIIEH 240,000 =10 x4 28 x4 3| 3,840
ZEEH 7Y 300,000& +2CH+73] 4,200
DeEHEY FY(EEed)
400,000& »1CH*23] 800
DEHEY P (ZHdZEd)
300,000& 10 x4 88«23 2,400
D12 UAMER 65,000& 101 =122 780
SIIEEI JdUHAE= 35,0008 ~20H 128 840
SAgEd) 2 3,000,000& 3,000
QRS ALY dUHAES
24,0003 x1CH*12& 288
sAE2EZHLY 1,000,000 1,000
HHE 2= 150,000& = 12& 1,800
=&l 8,064
A= 0I5t SRFT Z I
8,000 x12F 7L «12& 8,064
11,760 11,760
LH &4 1 1,560 1,560
=3 SO 10,000& = 13H 128 1,560
]l 10,200 10,200
=gl AN 170,000& x5 «12& 10,200
&l 3,600 3,600
PR FEHI 3,600 3,600
2IYLFLHI 300,000& =122 3,600
Sl 1,000 1,000
=S5 Sl 1,000 1,000
=l 1,000
f8 I+ 7Y 1,000,000 1,000
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20219 &= =0l &t gt

A A

ton

2N

X{ XH -
S =

S Otol & ot
S ADHE
Helr eIt d Mel & 2el

Of & AF & & A

A

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
of DRI & 495 811 723,772 N227,961
= 214,477
= 19,485
= 261,849
S AR 27,500 267,080 A 239,580
oI It XHel & 22l 27,500 267,080 A 239,580
olgiotelgl Hel & 22 27,500 267,080 A 239,580
201 et Y| 22,500 260,080 A 237,580
01 AP 22| d| 12,500 221,580 A 209,080
Ogtt4f2Y| 6,500
— QBN 2Y Syaa2
500,000 *13&! X| 6,500
(@aE==1:] 6,000
— 22X 22=2 400,000& *x15H 6,000
02 2% H| 10,000 38,500 A 28,500
OZ2Z2=22 Al 10,000
— 050 RS YBRI(ST L Y
2,000,000 x5 10,000
203 € R F & 1,000 5,000 A 4,000
03 AIEH =& 2 F XY 1,000 5,000 A4 ,000
OQelsIt g8 =4 1,000,000 1,000
401 Al HI L £ 0HHI 4,000 2,000 2,000
01 Al& H| 4,000 2,000 2,000
OB IX 832+ 4,000,000& 4,000
sk & L ol o2l 116,387 77,480 38,907
= 60,055
= 3,735
= 52,597
SX & oI 22| 116,387 77,480 38,907
= 60,055
== 3,735
= 52,597
s X ol 22 X &l 85,792 20,034 65,758
= 60,055
= 25,737
101 e1214| 85,792 18,834 66,958
= 60,055
= 25,737
04 JI12ZtHIZ22NEES 85,792 18,834 66,958
OsXOISAEN AR o124| 85,792,000 85,792
= 60,055
o 25,737
=X eI el&adel & 22 18,142 22,642 A4 500
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<

n0

Kio

Hl w

A 660

A 660

42,400

42,400

A 3,800

A 3,800

A 3,800
46,200

46,200

42,200

H3r
Wikd
RIS

18,802
18,802

12,453

11,853

11,853

600

600

4,800

4,800

4,800

4,800
4,800

Off &t 24

18,142
18,142
18,142
12,594

3,898
1,650
12,453

H

3,735

8,718
11,853

i

I
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8,298
11,853

mH

11,853

H
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8,298

1

600

180
420
600
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420
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H
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fir

1,000
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46,200

fir

t
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SN Bt
o ARITHEH X

el sz e (el @2)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Oz SXH(sds 5)
200,000& = 100HE = 204 4,000
= 4,000
O 2tg3s 29| 500,000 * 23| 1,000
= 1,000
O =Y3|&X =] 250,0008 » 80 X 20,000
= 20,000
O 1=sd 2¢ 200,000 = 6H 1,200
= 1,200
02 232%H4| 4,000 0 4,000
O Xg K54 200,000& = 100HE = 204 4,000
= 4,000
2ZAMAH AN XS 19,100 9,500 9,600
HAHRAMEFE SHA 19,100 9,500 9,600
SSRAMA A 22 19,100 9,500 9,600
301 et M= 6,000 6,000 0
12 JIEtE A= 6,000 6,000 0
QYU Z2ZTAMZAIS &S=H K&
50,000& 23 60 6,000
307 QI2t0| ™ 3,500 3,500 0
02 AI2tAAMAIE E =X 3,500 3,500 0
O/ FMD=EH X
3,500,000 13| 3,500
402 12t X0l & 9,600 0 9,600
01 It E A E X (M) 9,600 0 9,600
O=ggdA g d gorgE X 9,600,000 9,600
Al S A2t 229,944 245,872 N 15,928
= 108,222
o 15,750
= 105,972
Ot G AIEZAM 22| 229,944 245,872 AN 15,928
= 108,222
o=} 15,750
= 105,972
AEOFMALD O 2 3,000 16,928 N 13,928
301 et M= 3,000 3,000 0
12 JIEtE A= 3,000 3,000 0
OZ22 Al BAN 2 XM Ast=2
3,000,000& 3,000
AMEOCFMAIDE HHE=HAY 4,644 4,644 0
= 2,322
o 2,322
201 et | 4,244 4,244 0
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EM: o8&}
Hu: AZS ML
CHol: QLG AIZSIM B ST
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 2,122
= 2,122
01 AP 22| d| 2,000 2,000 0
Ogbt4=24| 2,000
— AMEOFEADMHEY BHME=HAY
2,000,000& 2,000
= 1,000
= 1,000
02 3244l 2,244 2,244 0
O=323<HA 2,244
—AlZOtM 2R AEQTRF(E4H|)
37,400 50 12& 2,244
= 1,122
= 1,122
301 et A =2 400 400 0
= 200
= 200
12 JIEtE A= 400 400 0
OAMUOZAIY SsX2 50,000& 8 400
=2 200
= 200
Helol2Aal2e| XM 29 210,000 216,000 A 6,000
= 105,000
o=} 15,750
= 89,250
307 QI2t0| & 210,000 216,000 A 6,000
= 105,000
& 15,750
= 89,250
05 QIZtREZ 210,000 216,000 A 6,000
OelosA 2 XRHdEH 29 210,000
—elolgazeNdadyey 249 210,000,000 210,000
= 105,000
= 15,750
= 89,250
HelolABotdEs 2 Mea =X (EX) 1,200 1,200 0
= 600
= 600
301 dEtE M= 1,200 1,200 0
= 600
= 600
12 JIEtE A= 1,200 1,200 0
O0elo JIsAaE de2ded 2K
50,000 6 4 1,200
= 600
= 600
ALJNsAaS2e 2H=A 600 600 0
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2N
D A2 AHI (510 D)
[ml =1

el

X ZH
S =

S Otol & ot

Jl2dHI (5ot

SA - ZE-B(EA) - NRAY - B S il &t o il RS2

—AZtIZRT S 15,000, 000& 15,000

202 oddl 17,460 62,880 A 45,420

01 = LH 4 1l 2,160 11,880 A9,720
Oge+=8 Kl 90,000& x6H x4 & 2,160

02 M0 15,300 51,000 A 35,700
Oge==8 AN 170,000& »18H 53 15,300

203 YR =&l 2,000 5,160 A 3,160
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O XA 22 Z A 68,282,000 68,282
Jl 34,141
= 34,141
NEEHAY 2aAtell S&23 WSy 1,960 0 1,960
Il 980
s 980
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- 325 -




A2
o

s IAHSB(E2A=2HHIA HS)
e SSALSTAY (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 980
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i 980
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J| 29,459
< 4,419
s 25,040
308 XX EHHSOIA 58,918 42,000 16,918
J| 29,459
< 4,419
fia 25,040
N 3JN2SHUe3&EAE A 58,918 42,000 16,918
OXIiXIZ2&eldl K& 58,918,000 58,918
J| 29,459
< 4,419
[ia 25,040
XOHQtA e 29 880,119 906, 361 N 26,242
J| 704,095
< 26,404
[ia 149,620
101 @124l 313,499 440,301 A 126,802
J| 250,799
< 9,405
s 53,295
03 RIAHAZZ2RHE > 282,300 440,301 A 158,001
O32Z2=2 X AAHl S(7¥) 282,300,000 282,300
J| 225,840
= 8,469
e 47,991
04 JIZHHZ2XEE+ 31,199 0 31,199
OJIZ2tHZ2 2 Xt olAHHl S 31,199,000 31,199
J| 24,959
< 936
[ia 5,304
201 Let24d] 388,160 340,460 47,700
J| 310,528
< 11,645
[ia 65,987
01 At 2teltl 337,160 265,810 71,350
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J| 47,008
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e 9,989
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3 QB ATMNUIAMB(BAAZTMEIA HB)
Chel: DXUEH MHIA AFY (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 490 580 A 90
J| 392
< 49
s 49
113/ 2SoHUHSZAEEALS I 490 580 A 90
OgxotAd2dE XA 490,000& 490
J| 392
= 49
s 49
S OtLE 0 LA AH XA 1,000 544 456
J| 800
< 100
e 100
307 21201 A 1,000 544 456
J| 800
< 100
i 100
01 922724l 1,000 544 456
OZR0or L& FLAA XI&  1,000,000& 1,000
J| 800
< 100
s 100
2S04 LB A 24| 1,250 1,250 0
J| 1,000
< 125
s 125
201 Let249] 1,250 1,250 0
J| 1,000
< 125
[ia 125
01 At 22l 1,250 1,250 0
Oz A2HE A2
1,250,000 1,250
J| 1,000
= 125
s 125
MZAMO A2 22 AF XIE A 30,000 30,000 0
308 MtXIEHSOIH 30,000 30,000 0
11 3J2SoHUHSIH4EAE ALS HI 30,000 30,000 0
O&FZ AIMOF A2 22| AFKI & AR (KHA)
1,000,000& * 30& 30,000
SRAEAHAS 17,312 16,803 509
101 @14l 17,312 16,803 509
04 JI12ZtHZ22HEE = 17,312 16,803 509
OWAENHEBOIX& At DJI2tH e 17,312
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Chel: DXUEH MHIA AFY (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Jles 9,370 * 209AI2t = 1H « 83 15,667
— 428 = 15,666,640 * 10.5% 1,645
SUEAAMY EXQEH 7,376 7,376 0
J| 3,688
< 1,844
s 1,844
101 1A dl 7,376 7,376 0
J| 3,688
< 1,844
[ia 1,844
04 JIZHHZ22XNHSE+ 7,376 7,376 0
OZXEHAY BxlaEy| 7,376,000 7,376
J| 3,688
< 1,844
[ 1,844
ZIIE d=Xe2ldl XA 142,000 142,000 0
< 99,400
e 42,600
301 LEEAZ 142,000 142,000 0
< 99,400
= 42,600
01 MEIBZE 06z 142,000 142,000 0
O&dJI& gt=xeldl XF A 142,000,000 142,000
< 99,400
[ia 42,600
FUALSE A Y 980,527 1,289,298 A308,771
J| 433,558
= 27,624
s 519,345
st AL ST ALY 106,991 104,549 2,442
101 1Al 103,727 100,469 3,258
04 JI2ZtHZ22 a2+ 103,727 100,469 3,258
Ot talg EXx012Y 103,727
— oIy 68,720& * 6 = 176 72,569
Fed 68,7203 * 6H » 35¢ 14,432
— 428 = 96,585,000& * 10.5% 10,142
—MEdz B3 5,200& * 6¥ » 211 6,584
307 21201 A 3,264 4,080 A 816
01 =L =4l 3,264 4,080 A816
OSNEEHTT M (sttd, S2X=4)
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s 132,729
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s 44,000
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= 23,000
04 JIZtHZ2XREE S 42,000 55,000 A 13,000
OGNS ESALSTANY J2H22X 012
u]l 42,000,000& 42,000
| 21,000
= 21,000
201 LB-2d| 98,958 50,434 48,524
bl 49,479
s 49,479
01 At 2t 2l 76,258 32,734 43,524
OR|4+STY MY U 422 7
18,000, 000& 18,000
| 9,000
e 9,000
OOETHYAMNY WEMHE #+& 6,000,000 6,000
J| 3,000
[ia 3,000
O222X 28 cl2d € 235 #<
5,000,000& 5,000
J| 2,500
s 2,500
OFZEHNE w7 7Y 5,000,000& 5,000
| 2,500
2 2,500
OggIT27y Ha 2 222 2
25,000,000& 25,000
| 12,500
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otxes 283 ¢ 2,000,000& 2,000
| 1,000
s 1,000
OAZ e ORI oI 10,000, 000& 10,000
| 5,000
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2 1,500
OSHAYSIANY AREE 7Y
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| 1,129
e 1,129

- 334 -




A EAA
M s ALMHIARMS(BAASHEIA HMS)
SR FOALST AL (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
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| 19,500
[ia 19,500
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